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SR wawr i, &Y. wa. (dfiferm) wdham, 2021
AT 3TeTaH

(e faifr : 24.10.2021)

BT WI-TA
9 : 2908 (3|53q'qa|11%1'9ﬁ'ﬂ'm‘q'f%?raq1'@q'r) qoites = 200
Yrii= 3@t/ Ancient History 800 3. & 1200 E. Tk I TSR~ WIHTTR

=21 QI (Indus Civilization)

1. In which State of India is the Harappan

Civilization site Mandi Situated?

ST WIAT Rl TSl AULT, WRA o ferd T

o feere 2

(a) Gujarat/TsId

(b) Haryana/gfRamom

(c) Rajasthan/TsTeTd

(d) Uttar Pradesh/3tX T
Ans. (d) : TIFRR (IW TS) F AT 15 e
aferor § fRerd AU M FEUT HEAAT BT Uh A WA 2
5 T %) T F SR T A W b o, B
e a9 & W gE &1 A9 Tam-eran THR-
foe @ U9 SIEE A o @
% &9 H AT ST o1 91 39 WA W Hg

drg, 3, umEad ua Y& 99 (Buddhism,

Jainism, Bhagwatism and Shaivism)

2. Which one of the following pairs is NOT
correctly matched?

frafafea & @ ®F-w1 T g 9@ gafaa
& 8?

(Tirthankar)

(Nirvan Place)

(Fratur zerer)
(a) Rishabhanath - Ashtapad
FHHAT SEINES
(b) Vasupujya - Sammedashikhar
AT BN
(c) Neminath - Urjayanta
Aftrre
(d) Mahavira - Pavapuri
Ao &
Ans. (b) : T -
(erefemt) (fator weret )
EEEIR) IR
T =g
Afey EEEL]
HRTE gy
e foraw S enfaeftsd & sgE @ wE 2 T
FRETE T § U werel ® R @) 9w faw &
FEAT & |

fearfa (Political and Social Situation between
800 CE to 1200 CE)

3. With reference to the Satavahana Rulers which
of the following statement/s/is/are true?

1. The Satavahana Kings were the nurtures of
Prakrit languages.

2. Public aspect of the arts got more
encouragement during the satavahana period.
Select the correct answer using the given below.
Codes:

HTaaTe YTHehi & T ¥ fr=aferiaa et |
{ HA-T/A HIT T §/87?

1. WTAATES YT UTghd WTHT o UIoeh o

2. HAATET hieT H ehell oh oilch UST ohl 3712k
TredTeA fhe
Hfrer feu T e @ wE ST @ g
e
(a) Only 1/3aa 1
(b) Both 1 and 2/1 3R 2 &=t
(¢) Only 2 /Faa 2
(d) Neither 1 nor 2/9 IR )

Ans. (b) : TEHA F GAT F & SFBA A HAaEAl B
Tl wift gg | TaE el 7 g9 Fw @ gared
ot T ugan faa| SaemeEl 5 Wha A S Heeoy fa
T HIAATEA T BT F ihd 91ST H ‘e weawedt’
WA F | HERAl 4 O Hal, foEehan & -9y

T & ArHT B HeERA fa
4. Which one of the following is NOT correctly
matched?
frafefiaa § & wH-91 U v gafera 6 &2
(Ruler) (311H<h) (State) (=)
(a) Rana Hamir - Mewar
T FHER - Hag
(b) Rana Chunda - Marwar
quT FueT - ARAT
(c) Malik Raja Farooqi - Khandesh
TfeTe TSI Hreah! - GFRW

(d) Malik Sarwar Khwaja Jahan - Malwa
AfcTeh FXEX AT ST - TTEar
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Ans. (d) : 98 gAfed 2-
RIEED T
oM &R - HEE
T U i
Hfetsh TS Hreah - ECIEER)

fafarer (Miscellaneous)

5. Match List-I with List-IT and select the correct
answer using the codes given below the lists.
Tt 1w gt 11 9 R sty aeur e
& o fou g e 9 9 ST @ 9 it
Gell-1 /List-I A1 /List-11
(T=eT) /(Text) (T=IreraT) /(Author)
(A) Ragamala 1. Somanath
T - FET
(B) Rasa Kaumudi 2. Venkatraman
o - e
(C) Raga Vibodh 3. Pundrik Vitthal
T foay - quediss faga
(D) Chaturdandi Prakashika 4. Sri Kantha
TIRUE! TR - 4 Fvg
Codes: /e
A B C D
(a) 3 4 1 2
(b) 4 2 1 3
(c) 2 3 4 1
(d1 2 3 4
Ans. (a) : H&l gﬁ%ﬁf z-
qeht-1 Teft-11
(=) ( Torfera)
T - qrede fagd
T ey - Ty
TS THNE - EETauC]
TRt Sfaard/Medieval History
W 99T (Mughal Empire)
6. Given below are two statement, one is labelled

as Assertion (A) and other as Reason (R):
Assersion (A): The Mughal Empire
originally as Military state.

Reason (R): The vitality of the development of
the Central Government system depended on its
military power.

Select the correct answer using the codes given
below:

Codes:

F=r & wew fau g €, fed @ o oW
AMTHYT (A) TAT TEX T HIUT (R) el T

was

AfTHRUT (A) : T THT I &9 § TH A4S

TS Aq11

HRU (R) : AT UG e & fawe i

oTeIeh 3Tkl Afvres wifts W fedt off)

o fou 7@ e @ 9 ST @ w9 Sl

Codes:/eh2 :

(a) Both (A) and (R) are true and (R) is correct
explanation of (A)/ (A) 3R R) A g &
3R (R), (A) F T A FIAT 2|

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

(A) 3R (R) a4 97 €, fFq (R), (A) 3 &t
AT & BT 2|
(c) (A) is true, but (R) is false
(A) T 2, T (R) o 7
(d) (A) is false, but (R) is true
(A) Ted &, 5 (R) 99 7
Ans. (a): TSl AT A AE T SMERT Th hestispa
g & oo FreEw wd aeqe @ Yt SEEsE
foran T o \HEEE Sae & wieEH g 9= ARt
T FER fTE wfE F H e R S A g
F1el ¥ G Sere 1 yq@ dReeft g onl 9 SAfe
AR 9SSl & @ qur Afel @ SuRefd & SiE e
oan o7 W § R T s & gfy dRor R @ 2
TafeT 21 faehed @t 21

fafaer (Miscellaneous)
7.

The book 'Fawaid ul Fawad' is the record of
the conversations of Shaikh Nizamuddin

Auliya, it was compiled by/ ‘mmgvr wHarg'

AW TEIS Y@ fAede sitferan &t s

T TaaRur ¢, SHERT Hehedd TeRaT T

(a) Amir Hassan Sizzi/378R g9 o=t 5

(b) Amir Khusro/s™R & 7

(¢) Ziauddin Barni/fa=&H a@t 3

(d) Hasan Nizami/gg A=t 3
Ans. (a) : HIFGA HAE AHG TEH S G AR
fferan &t AT F1 faeRr 8, 3HH Gehod SR gHA
fosreft = fepen @1 Femgee sfifermn T Aeeqel gwr w@d
o S feeel Heaad & 7 "eeqUl gedMl o e w &
g © 9
8. At which place did Raja Ranjit Singh set up the

Adalat-i-Ala? =T e fig WE W

STETEAA-T-STTEAT hit TATIAT ki ?

(a) Amritsar/3HdE (b) Lahore/dER

(©) Firozpur/ﬁv’ﬁﬂ'ﬂ'{ (d) Multan/qeAd
Ans. (b) : TS ol fig 7 @R # 3yareld T-3fen &t
T B A AR A & A Fmfor s SREEr @ S
fig & Wl T WI-T-IMEA’ F A9 F I S A S
3G 9 TR § g T W A O weia fig smaER
7 feoq gwifr Tfes &t ol dfex & uRafda fear an
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e gfae/Modern History

TG €Y, foRe gl U 31 3Ta e
(Social, Cultural, Mass Awakening, Lower
Caste, Worker's Union, Farmer's, Movement
and other Movement)

9. In the contexts of Indian history, which of the
following statement/s/is/are correct regarding
Vaikom Satyagraha?

1. It was a satyagraha againsts untouchability and
caste discrimination.

2. Mahatma Gandhi participated in this
Satyagraha.
Select the correct answer using the codes given
below.
Codes:

areta feer % e H argem gemE %
|y § Frefaiad we=t § @ SE-ar/4 98
%
1. I% YT iR Fiferta dewe & faeg Uw
T @l
2. WgTeAr ieft ¥ 39 Weawg ® Wt fere em
o fe2r T e T wET W T ST g
Codes:/%e:
(a) Only 1/3aa 1
(b) Only 2 /&dc 2
(¢) Both 1 and 2/1 3R 2 &t
(d) Neither 1 nor 2/F @ 1 T & 2
Ans. (¢) : TIHT AL 1924 . H A 5 TIUHR §
TART T TH FGYAA W M qedE F foes
YIRIeH IT1 39 QAT FT A9 1., I, . Horwd
adr &.q. HIEGHAT S JqEi 7 A 91 59 gene &
e S 3 3rar wHede femn q9r 1925 €. # 39 & & &
feam |

(Major Institutes, Treaty, Commission, Act)
10.

Who among the following never presided a
session of Indian National Congress?

frafafea @ @ frea wofi ot ardio wiar

HINT o TRt oft sfiraem st sremerar & &t

®?

(a) Lala Lajpat Rai/<Tedl <Irsiad T

(b) Bal Gangadhar Tilak/aTel TR foctesh

(c) Gopal Krishna Gokhale/TdTet HT e

(d) Subhash Chandra Bose/g9T¥ = ¥
Ans. (b) : IRAE THT HET F wWOT 28 fIEER,
1885 . o g § g¢ off| T & a8 ¥ oE Aol
e 7 G F AT Y eteder A, SY a9

ANST, M FOT MES, YK AT IS, A Ao
T, S, games AW el ae Aaei # fah e
TR foess 3 & 9 Ut S & R o st
1 eI TEl I AT

11.

Who among the following was NOT an early
member of the 'Naujawan-Sabha' formed in
1926 A.D.?

frrafefaa & @ 1926 3. ® wfea ‘Hsem=-qar’

T TRINTeR TS hid gl o1?

(a) Bhagat Singh/Wﬁﬁ'

(b) Yaspal/a=Tqret

(c) Chhabil Das/Ssd a9

(d) Ambika Chakravati/3TftaeT =shart
Ans. (d) : 9T g, e =X07 dEq, I q97 B
T A FoeH o famfiEl w @nfed s % faw 1926
g 4 Ao g # e oo 9 e 39w &
eritE I R o ) | U e i A2 B
[ | S 1928 €. § AR § g gWed | W
H AT UF S R el eifise wshadl 39 @9 9§
TEfd T 9
12.

Who was the founder of the 'Asiatic Society of
Bengal'?

‘ufyranfess WETEET ST SANET’ SR HEATUH
i ar?

(a) Jonathan Duncan/SIHTeH S

(b) Sir William Jones/&R faferam =g

(c) Warren Hastings/afﬁ? e

(d) William Bentinck/faferam sifés

Ans. (b) : T¥EICSE THEd % e @ T 15
S 1784 3. @ W faferem S o § Ft o
TH WO & THY aRA RS S 1 TEaR SR
71 39 TR & LT 1 T Sevd NG e e
i & Gof 1 AR ST AN H HEAT AT

13. Which one of the following Acts of British
India strengthened the Viceroy's authority over
his executive council by substituting 'portfolio’
or ‘'departmental' system for corporate
functioning?

fearfeor gfvgen & frfefaa o @ fea sfufaem
q UHfew s & e Wfaenr o
‘faurfia’ ugld g0 T @t &
URue TR 39 WIIeRR it 3 31k siet e
ferar?
(a) Indian Council Act 1861

AR aRYe sfafEd, 1861
(b) Government of India Act, 1858

AR FChR A=, 1858
(¢) Indian Council Act, 1892

A aRYe sfafEd, 1892
(d) Indian Council Act, 1909

ARG aRYE sfatEd, 1909
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Ans. (a) : 5fewr sfrear & wwdia ufue eifufem 1861 =
AMfEs HEEeE & @E W) faum a1 e gsfy g
I H FHEGHH IREE T Iq% TRHR HI 3R 31w
T Y& fRar1 1861 o AH & GHT oS = 9d
F IEARE A AT B & ad § fyarfg wored
Sl o ®9 § HET ST B

14.

Consider the following events and arange them
into chronological order:

I. Sharda Act

II. Nehru Report

III. Constitution of Simon Commission

IV. Dandi March

Select the correct answer using the codes given
below.

Codes.

frafafaa geamst w faem =it qur s3er
HTAHATTAR AT T :

I 9TReT srrafam

II. <g& Rure

II1. |TEU HHIT R TS

Iv. siEt <

(a) UL I, Tand TV/ 1L, 11, T 94T IV
(b) L IL, I and IV/ I, 11, I T IV
(c) IV, I, Il and I/ TV, 1L, IT 9T 1
(d) LIV, T and O/ I, IV, 11 741 111
Ans. (a) : §&l gﬁﬁw 2

QI3 HHE & T —  Tda 1927 .
e faid - 3T 1928 T
e et - 28 faemr 1929 €.
it O - 129 1930 %.

HHTER U5 W& iR
(News paper and Magazine)
15.

In which year the book '"Poverty and Unbritish
Rule in India' was published?

‘g wug SHfafeyT T g FUger’ AR

(a) 1900 A.D./19008. (b) 1901 A.D./1901 &.

(c) 1902 A.D./1902%. (d) 1903 A.D./1903 &.
Ans. (b) : YT & R TFaiaal § e A 5
Teaqul W 21 g% Ue olicsdq o sfear off o
ST 21 1901 €. # yemifye ‘ureef e sy & 3
gfiear gl wod wemyul g 21 e ANt agt
HIF F 3 T 37T F @ B

: forrer e e ;

(Freedom Struggle and National Movement)
16.

Who among the following was NOT associated
with the Kanpur Conspiracy Case of 1924?
= & ¥ 2 T 1924 & AR gAT AHA
H yfher e ar?

(a) Muzaffar Ahmed/qSTFHT 3TGHAS

(b) Nalini Gupta/Afetit T

(c) Shukat Usamni/Siihd SgEY

(d) M.A. Anasari/TA.T, 3R
Ans. (d): 1920 & 3 | 9T H GHSEE 97 AreRdare!
feramem 1 339 gam, St &9 Fifd 1917 ¥ ol 88 %
TS ATl 17 A 1924 & HAQ TSHT F AHA ARA
i FRgfrel A ifed Tfafafel § Hafd om wEE
YET | ASOHL STEHE, AfCH W, Yishd STHT, TH.T
S W 91 37 g W R o T oA wed
ffas wifd g0 s 9Ra & Fwa & e o
(ure) ® o g ¥ dfed W # A W © 91 T
stardl FAR weIT § e & o9
17.

The name of the foreign journalist who
reported about Satyagraha at Dharsana salt
works was

39 foesft werr &1 9 saEd e araer

HIee gl T TeE & o § FHR fau

(a) Francies Louis/S%iT&d ﬁif

(b) Mark Tully/Ts &t

(c) Web Miller/aa firer

(d) Philip Sprat/fsfera B2
Ans. (¢) : GfITT STET Y& 1930 8. & A GUSHT
q1IE, T TEd R AT & g # 21 18 1930 €.
H AT 25 B W el 7 GRHAT 7S THE HREH
W YT el S8l % Al ¥ el T 39 qaEe aEi
?aﬁ?aﬁﬁma\o‘qfiﬁﬁq’ FEAR & TAHR 99 R

IEIN

fafaer (Miscellaneous)
18.

Arrange the following foreign travelers in
chronological order of their arrival in India:

I. William Hawkins

II. Ralph Fitch

III. Sir Thomas Roe

IV. Nicholas Dawnton

Select the correct answer using the codes given
below.

Codes:

Trrafafiga faelt anfEt @t 39 9Ra 3 &
RICTERATIHR SHE(ad i

1. faferem aife=a

II. Tew R

I 9% 9t0d T

Iv. fHeRea e¥e

o fau 7@ e @ 9 ST @ w9 S
e :

(a) 1L, I, IV and 111/ 11, 1, IV @9 I1I

(b) 1V, 11, L and I1I/ IV, 11, I T 11T

(¢) L I, I and IV/ 1, IL, I11 @1 IV

(d) 1L IL, IV and I/ 1L, IL, IV @7 1
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Ans. (a) : T AT 2-
T 1583 .
faferam gifeg 1608 3.
e SR 1613 §.
W oafE T 1614 %.
R <ht Qﬂ}'ﬁ?'r/ Indian Geography
wffferen HTEAY/3UATE AH/AHET T

(Physical Structure/Drainage System/
Human Geography)

19.

Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R):
Assertion (A): Teesta river was earlier a
tributary of Ganga now it is a tributary of
Brahmaputra.

Reason (R): River capturing is a major feature
of Himalyan rivers.

Select the correct answer using the codes given
below.

Codes:

Fo @ weA Ru g F, fEE 4wk oW
TTRAT (A) TUT TEX I HI (R) HET T4

AfRYT (A) : o & Teat M # TwEE &
off STSThel I8 TAGT H T T4 &
HIUT (R) : a1 U7 fGAIerd a1 Afedi &1 T
G T 2
Hfrer feu T e ¥ W ST H 9 A
e :
(a) Both (A) and (R) are true and (R) is correct
explanation of (A)/ (A) 3R R) A e
3R (R), (A) F T A FIAT 2
(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)
(A) 3R (R) EH 99 €, BB (R), (A) 3 =&
AT L B 2|
(c) (A)istrue, but (R) is false
(A) T 2, f (R) o 7
(d) (A) is false, but (R) is true
(A) T 8, 5 (R) 99 7
Ans. (a) : T T9ET fRHIGT I A H TH G
2 3O GaH SER e 99 ] S ggdt T
s T8 ff W 1787 & R arg # fo
HTAT WA TEAR aAAE H TR H e A4 2
T TR H gag e AR ae o wews G 8 S
Festen § e Ao i geifsdl & yard @ gu
A wedl @ foed wdl, difiq o des S weEw
Afea s e §1 o WE 8 & (A) 3R (R) &
T & 3 (R), (A) T eI =3 Tl 2

A 8¢9

i

20. Match List-I with List-II and select the correct

answer using the codes given below the lists.

Tft-1 st Geit-11 § gafaa sie qor giedt

% et fou 7T e | W@ ST = Wit
List-I/g=h-1 List-TI/g=it-11
(State of India) (Highest Peak)
( 9 & TS ) (TeR St =)
(a) Tamil Nadu 1. Dhupgarh Peak
AfterTg, qyTe A
(b) Rajasthan 2. Saramati Peak
REISIE] TR =
(c) Nagaland 3. Gurushikhar Peak
: TERTER =T
(d) Madhya Pradesh 4. Dodda Betta Peak
e oW gIeT aigT At
Codes:
A B C D
(a) 3 2 1 4
(b) 1 4 3 2
(c) 4 2 3 1
(d) 4 3 2 1
Ans. (d) : T¥H 9RG & 9T UF 370 fod g S
ST B G GHe 9 THN -
Teh-1 Teht-11
(TRA & T (T St et/ uda)
afterrg, - greT Jg1 Fret
TSTEH- eI =
ATetUS- TR =t
T TR - U =l
21. Largest saline water lake in India is
ARaas ¥ @R U o v wet gher §

(a) Chilka/feresht (b) Sambhar/H9T

(©) Lonar/@HX (d) Wullar/geaX
Ans. (b) : 3fEeT Uo7 # Ry 9T 1 Fa9 o<t @R UMy
1 <frer Foreshr 81 foresht W <A i € 1 S e &
Iae & fou sfyg @1 SR e ToeE § SEq 60
fepet. &t gl W o yRA F 3T ST geTH WR
i 21 S8l W AHE B IR fhAT ST 21 AHR
I 7RI & e el § Req SaramEl/ 3 g1
faffa sftar 81 aer o, SerswiR o9 o5 e | few
TR F G TS A T @ i 21 a8 e A W
faffa MER el &1 3T §1 M T T FIH H IW
(b) @1 21 S f6 s @1 FE9 ' NCERT
(F9TEl 9RA-1) § IR # Ga9 928 TR uH & g
“Fercehr’ I g9tar T 21 3% fheq (a) WE ST
22.  Which one of the following rivers is NOT the

part of Indian Ganga river basin?

frafafas & ¥ ®A-H T T 9ReE T

et A @ fewmm =t €2
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(a) Punpun river/gI9Y EE

(b) Ajoy river/3Tsig T

(c) Jalangi river/STArT et

(d) Jonk river/Siieh =&
Ans. (d) : Siieh & a0 T 9T @ e @ g
T8 AEMEl H Wedd A€ 2§ SUH SETH GHeU USR
(3feem) & S 81 THH T & ST F F3AST 37
T el T BYiwE § WeHE qd7 SeieESR B &
Bl T T T, I A9 qd o 9 m ad
afe &1 feem §
23.

Which of the following is the largest lagoon
lake situated on the east coast of India?

frafafea § ¥ vra & et qe W foa qag

TR A e wa-wt 87

(a) Pulicat/Jefihe (b) Chilka/fresht

(c) Kulleru/Fe® (d) Kilivali/feefiaett
Ans. (b) : IR & A d@ R Red ga@ a1 o s
forer (3feem) g1 g9 af 1981 # TWER well g
e e e a1 @R sfe ewfewwm & diW faer, od,
gat g o Rl # faegd @1 el o sy s
T afrerg, # $m W figm ®R o g @1 g
et 1 Hey STy Yeur § qur fhclidel s @ Hey
dfterrg T59 9 21

agA, o, fidt, faeng afteeand, s

(Monsoon, forest, Soil, Irrigation Project,

Agriculture)

24.  Which of the following is NOT correctly
matched?
Freforian & & w-A1 T gate T8 8
(a2) Hundru Waterfall - Subarnarekha
River
gUeSE Sl YO - gaviar 78
(b) Chachai Waterfall - Bihad River
TS STl JuTd - dfigg A
(c) Dhuandhar - Narmada
Waterfall River
3TN ST T - e T
(d) Budha Ghagh - Kanchi River
Waterfall

a1 o ST JTT - HiE TS
Ans. (d) : S 19 9 ¢ T4 W Red 21 98 IR@vs
1 GIH A1 ST TUG 21 Bl A W Ry 9| AT
21 T I S O FREve # Reyq & Sefh 3 -
F0EE T I - FAUREl T (IR@UE), TR 5
YU- deg A4 (W.F.) T4 IR S JUE-FHE A
(A.3.) & gafed 21

25. Which one of the following causes is

responsible for rainfall during winters in
north-western part of India?

frafafea # & RF-91 S0 9RG & S-

Tfyw 9rT ® vfie kg § B anelt aut & fan

STETET 7

(a) Retreating Monsoon/HTE gt

(b) Cyclonic depression /shaldl STaad

(c) Western disturbences/qf&Ht faeti

(d) South-West Monsoon/afJUT-ufZd A=
Ans. () : Rl faefw, g&f quer @R § 0= @ €
R @ F R Ferd gd ufad e, dE, sremiE
qIT TS I IR HLh 9RA & ST 901§ wgad
gl S # FRges R qor <o F o S @ @
TRd T ¥ TEAT e B o § | U Se-yaw
FaEl H IRG B R I I H Feqol g
frum €1 o 3 sl # dome, @R, feeedt qen
et IO TR qr 39 9T & Fer § Fo o A §
S B FHA o ArEEs g 2|

@i, JTfoRT HHTUH Ta ST § AR
(Mineral, Power, Resources, Industry and

Trade)
26. Match List -1 with List-II and select the correct
answer using the codes given below the lists.

Feit-1 st Geit-11 § gaferd switwg aer gieat

o it fou T e | wE SW G
List-1/ g=it-1 List-TI/g=h-11

(Mineral Exploration (Headquarters)
Agencies)

(=T =AU STfTeRTm) (TETe)

(A) Oil and Natural 1. Bhubaneswar
Gas Commission
T 9 Wl 79 T qaqe

(B) Mineral Exploration 2.Hyderabad
Corporation Ltd
gt st i fafies detens

(C) National Mineral
Development Corporation

T G faem fm YL

3.Nagpur

(D) National Aluminium 4. New Delhi
Company Limited
TP Tt HEA EEREl
fafiee

Codes:/ehe
A B C D

(a) 4 2 3 1

b1 2 4 3

(c) 4 3 2 1

(d) 2 3 4 1
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Ans. (c) : T8 TAfT 8-
Tqit-1 =11
(@IST STt 3TFTRTUT) (TEATTT)
1 Ud STl g SEn - 7 e
g srawo fm fafiee - AT
Tt @i e - TR
T et Fe fafide - qEeeR
27. With reference to NTPC unit at Singrauli,
which of the following statement /s/is/are
correct?
1. It is situated in Northern part of Chhattisgarh
State.

2. Itis NTPC's oldest unit.
Select the correct answer using the codes give
below.

Codes.
AR, o e faa g & e o
frreafafiaa § ¥ i-91/8 &aT |98 £/87

1. 9% BHIETE TS o IO WIT § feera 2

2. g At wt wew W g )
fror few T e @ wE 3T @ g
<< :

(a) Only 1/3ad 1

(b) Only 2 /&dc 2
(¢) Both 1 and 2/1 3 2 &t
(d) Neither 1 nor 2/F @ 1 T & 2

Ans. (b) : TR 297 3t ool fam seares G

& # TE S §1 WANE. F R Raa e

# T gy, 1977 # fHar wer an fen e wem

Y & W g4 3090 & qAwE o # faeia g1 g9

&7 # d9 gw am fR gdEaRdend & R,

feeareer qor Rge) el qor Reég 999 3090 & HiH9%

et § & Safe foear=e 997 qovo & i/ Re et
¥ g 3% Ree STomy™ a1 A Flades sl fafies

IR g 9 FE e @ S 21 7 WA #

T G 3 B

fava =1 et (World Geography)

VI AUSH (Lithosphere)
28.

Which of the following is the correct sequence
of the Islands of Indonesia from West to East?
TS % o TE ¥ ufyw ¥ e feen @
3 wEt whm Frferiiaa o @ -4 87

(a) Java, sumatra, Lombok, Bali

(b) Sumatra, Java, Bali, Lombok

(¢) Sumatra, Java Lombok, Bali

(d) Bali, Sumatra, Java, Lombok

T % 3cared § ohof 3w 7

29. Which of the following countries is NOT
located on the bank of the Black Sea?

frrafafga # @ SF-T 9T AT AR &

T frera &t €7

(a) Syria/HifRar (b) Turkey/Zahi

(¢) Georgia/Stfstar (d) Bulgaria/germian
Ans. (a) : H GOR & a2 W QR fod 98 21 el
R ufgm § gomfar, JufEn, SR @ § w9 R
b, T F qH T AT TER H qF | S a9
FHTHYE JeaHTe e 2|
30.

Nobi and Kanto plains are located in which of
the following countries?

At 3R = fow Frafafaa & @ fwa T

o fera 32

(a) North Korea/3tW Hiftar

(b) South Korea/ZfRI0T SHiftan

(c) Japan/STdH

(d) China/==
Ans. (c) : s 3 H=dl Feq I F R &1 A
HaM B 69 W Red €1 98 JiT geas S are
& &, TN g9 FW H gead AN 21 A Hee & i
e iR Tl 1 B Bd 71 Fl T A A9 H
Te § fod @ Siedl R gt He # Red 7

31. Match List-I with List-IT and select the correct
answer using the codes given below the lists.
Feit-1 st Geit-11 § gaferd switwg aer gieat
= i fed T T ¥ wE s g

List-1/g=t-1 List-II- F=A-11
(Volcanic Mountains) (Country)
(SITATIE wale)

(A) Mount Rainier 1. Italy
RIS I gTelt

(B) Mount Etna 2. Mexico
AREUE Tl

(C) Mount Pericutine 3. Philippines
HRUE IEEIRIE]

(D) Mount Apo 4. US.A.
R T RACA
A B C D

(a) 4 2 1 3

(b) 4 1 2 3

(c) 2 1 4 3

(d) 4 3 2 1
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Ans. (b) : THI-1 F F-11 § T GAFAT I 39 THR -
geit-1 qeEit-11

(ST &t weie) G)

T IR T TS SRR

ARE WAl et

U UG Hferant

qEUE T fepetidig

32. With reference to Socotra Island, which of the

following statement/s is/are correct?
1. Itis an Island of Oman, situated in the Arabian
Sea
2. It was designated as a world natural heritage
site by UNESCO in 2008.
Select the correct answer using the codes given
below.
Codes:
e g % ded # frafafea § @ wiE-
/A U w7
1. TE W T TH 517 § T 37 90R | feora 7
2. 39 2008 W FAWR ST fava Wighfae fowmd
T & ®U H A1t feRam Taw em
et g Y e @ wh T g
<< :
(a) Only 1/F3a 1
(b) Only 2 /&ad 2
(c) Both 1 and 2/1 3 2
(d) Neither 1 nor 2/F @ 1 7 & 2
Ans. (b) : THET §19 3T IR § 3167 & TSt & g
feerg a9 1 U 9 21 g S fafgear % gy ¥ e
qyg 21 39 9 2008 ¥ T gW Y Wi v
W % ®9 H A B T o1 g e ay
1945 § g o1l THaH g ¥ feod 81 adam #
9wkl 1 oy forrad et § 9 & 40 @t Wi €
S 32 Witpfereh, 7 Wl wd 1 @ wre 21
33.  Which of the following Islands is NOT located
in the Caribbeam sea?

frafafea & @ ®F-11 §iv Rfeg= anr o

sraferd & §?

(a) Grenda/I-TeT (b) Montserrat/Hlcale

(c) Madeira/FEr (d) Anguillafﬁ’lgw
Ans. (¢): TSI §19 I8 Tdiied MR § R g S
TS S Th W &7 § s $ot ehe 801.1 &
fepeft. 21 THe TS ad SR TH g1 AT g1 A A
T e Tfefafy 3 31 3w SR Ao arer, e
foreq sgm, 9 TR W S g1 e I,
Hietre ud Egen HifEE arr § Rud €9 8

A AUSH (Hydrosphere)
34.

With reference to Mekong river, which of the
following statement/s/is/are correct?
1. Mekong rises in Tibetan Plateau

Select the correct answer using the codes given
below.
Codes:
firesiT 7t & d@ed # frafafaa @ @ @-
/A HAT G T/37?
1. TUeRiTT =1 ST forsard & USR | B1
2. ATt T SeeT ST SEtear # R 2
(a) Only 1/3aa 1
(b) Only 2 /&de 2
(¢) Both 1 and 2/1 3R 2 &t
(d) Neither 1 nor 2/F @ 1 T & 2
Ans.(a):w-ﬁmﬁwﬁa@ﬁwa,
5 afeor-qd wfdren 1 =@ ud frr-gd wfvwr & dm
ot Fed €1 fei T F SaT foed % TR § @ 2l
T8 M S I8 FEE-ARIY, dEdvs-aeig U
FESA-ABNE % qeT A1 T 81 SHH Gerah Aol
dm & 1y SAm-feT St faaaam § & = fie faed
F fope feroft <9 @ & 21

a1 HUSH (Atmosphere)

35.  Which one of the following pairs if NOT
correctly matched?

frefafiaa & 9 ®F-w ©F @ 98 gafa
& &7
(Name of local winds) (Places)

(T get ok ) (FAT)

(a) Leveche - Spain
E
(b) Brickfielder - Austrilia
forptreet s feran
(c) Black roller - North America
=A% TR Il TR
(d) Shamal - Austria
T sifegan
Ans. (d): TS T TG & A9 T 36 W H
T AT 39 TN -
Tria uael & AT T
KEN - C
IEEARTETY - st fern
=% TR - Tl amfa
e e # W Taw w1 AW T 2 afew @8
3, T T S & oIS &7 H TH g 2|

SUPED ‘Tﬁﬁf (Economic Geography)
36.

A non-renewable source of energy is

ek IR Sl ol & 8
(a) Solar energy/FﬁI El

(b) Petroleum/Iiferam

(c) Wind energy/arg Ex]

2. Mekong delta is situated in Southern
Cambodia. (d) Biogas/@mantg
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Ans. (b) : T -0l a1 emdiiga ol G,
T TEEE ¢ B AMe 999 % @i % SFER wids @
¥ gaq s ferdt & for  wim ® W o
9|

TR et GEeE, 9 e § S w5 T T8 e
T ST qAfeRyT WEEUT ¥ A UH I B ) iy
ol % TG EA-ER IS, U S, SO Sel, 9-
ardig ST, arEE St o1 €

37.

Which one of the following is NOT a major
coco producer country?

frafafes # ¥ &F-91 T& &S & T0E

TG T T &7

(a) Latvia/crafea

) Cameroon/Hu&

(c) Ghana/dr1

(d) Ivory Coast/3gadl HE
Ans. (a) : FIH F TG IURH I MEEY FE, =,
MR, SR, HHE 3MfE & | SUhadg o §
I TTHH geT 3T & e Tell & Sl Bl Bihl Fad
Z1 3Hh g7 B gA WM cdfed STARE H SWHAH
9T §1 FIH A TR & & ¢ fhea (IR SR R
BRET (3T |
AT A e wEa T 2

TS I e WHesraet
(Human Geographv and Mapping)
38.

Which of the following pair is NOT correctly

matched?
e § & W g gt w87
(Place)/(TT) (Tribe)/(STISTTleT)
(a) Alaska - Koryak
ST HIATH
(b) Borneo - Punan
aifar REIE]
(c) Arab Desert - Ruwala
F AT “dredl
(d) Sweden and Finland - Lapps
T qo1 fpetvs o
Ans. (a): T& ﬂﬂﬁﬁ I 9 HhR g
(FamT) (S=Ter )
aifar - RCIE]
T A - STl
e qo1 fetvs - ks
PN, JAfR TEERAT F qebedl T F S 21 F
TN T: TehIHI-FHTSHT A S & |

SEEAT Te THeRTur
(Population and Urbanisation)

39.  As per the Census, 2011 estimates, which one of

the following is the most populous State in
India?
SUET, 2011 & IAHI h JIER 9RA A,
e # @ F-91 waittes SEET aret =9
¥
(a) Bihar/fe@R
(b) Madhya Pradesh/A&T Fa31
(c) Maharasthra/Hgg
(d) Uttar Pradesh/3tX BEN)
Ans. (d) : SUAT, 2011 & Al & IR 9RA §
W TR el SHEEA e T 2|
SFITUAT 2011 o sifqw el @t gy ¥ ot ufw e
1 9 Fretad 8-

g THETET (RS W)

W IS 19.981 (16.51%)

Y 11.237 (9.28%)

EGIR 10.409 (8.60%)

T et 9.127 (7.54%)

Y TET 8.458 (6.99%)

40. In India the first Municipal corporation was set

up in which one among the following places?
= ® ¥ fofe W W 9Rd ¥ god R fm
T femam T ar?

(a) Calcutta/shetehdl (b) Madras/qs9

(c) Bombay/aifrl (d) Delhi/feeett

Ans. (b): YRG § Y99 TR fom &t o mse 7 R
T AT HUT T 1600 3. & =TT Afufem & et ww
ARFR % S Teh AL A L I Faf I
T & faw qen = ggfa & fosa qor s &
faw 29 fadmR 1688 20 & IS H 9RA & TIH X
g &7 T @

41. Which one of the following is known as

acceleration stage in the urbanization curve?

freafafaa & @ frment TiwT a% & @Ra

STITAT SHET ST &7

(a) First Stage/99H 37N

(b) Second Stage/fstra aTarwen

(¢) Third Stage/gdra aTaee

(d) Fourth Stage/aqd 37aeen
Ans. (b): TR 9% § @Ra e fgda e #i
FEl S 21 TR H oaeed S§ ouhar 4 @ S
AT TET § T qRad ol 81 T %
fodfr s/omen & vl § gfg @ @ qur smER
s e # fEw & gfg, o @ 9fy,
aRees # gy & @y el SHEEn § aar gty @ 7l
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42. With reference to 'birth rate' which of the

following statement(s) is/are correct?
1. Urbanization helps in reducing the birth rate.
2. High literacy rate is directly related to low
birth rate.
Select the correct answer using the codes given
below.
Codes:
‘Tt &% wed § frafafew we d @
H-AA W E/E?
1. TR ST &l H i T TEE 2
2. Seft HIYRAT ¢ 1 forey SeT @ dien "=
gl
= fou ™ e ¥ 1 I g
C =4
(a) Only 1/%ad 1
(b) Only 2 /Fda 2
(¢) Both 1 and 2/1 3R 2 &t
(d) Neither 1 nor 2/9 q1IdH2
Ans. (¢) : THHOT TG & T @ H e, =i
F foren qo1 w@rer g $ AR WET g % BRuT
A Bel WRAR T H aed @, fen & aemm g
A H ST U B @ e wmfe, et sty
T EH & g & uRar e &t sreemEdl & gwee |
Teg fuerdt @1 o7 TR 9 S WERAr & SHIe
FA H H TEEE 7
43. Which of the following State has the lowest
density of population as per the Census of
2011?
2011 & SEUET & AIER TR TSH W
TAEEAT I Tad & 2?2
(a) Himachal Pradesh/f@meret BER)
(b) Arunchal Pradesh/37&UTT=lc EEN]
(c) West Bengal/afsHt swret
(d) Mizoram/frsia
Ans. (b): ¥, 2011 & STIUAT o TR 0TS T
F TS (17) T8 7 @ T2 R F1 S5 (1106)
e e |
=" UTe SEE arel T

TRATT WU T STl

(Indian Constitution and Governance)
TS, W T &1, ANTRRAT, et
ATIHR, A hied, T o fefQ9res aed
(Preamble, Union State domain,

Citizenship, Fundamental Right,
Fundamental Duties, DPSP)

44.

Which of the following words is NOT
mentioned in the Preamble of the Constitution
of India?

frrafafaa & & SF-T1 9 WRdE w@feem
N TS | Ieoiad el 87

(a) Sovereign/qHYdI

(b) Democratic/ehaATHS

(¢) Secular/dafTuer

(d) Federal/5Ht

Ans. (d) : WA Gfoud & wEEAT R,
GofeRuerar, THSEE], eehdAS TURST H et gl
S T YeE H Sooi@ FEEAT § Fé g1 g
I, 3Tfes qUr TS, =F (3 YHR) H Seoid
21 oy & femm, sfveats, fagrg, od qour SuEr &
ATl (5 THR) H e ff 9 iar 81 eaed € %
26 TEE 1949 H AP TW g GRawE i nfied
fepam T

45.

Consider the formation of following States and
arrange these in chronological order:

I. Goa

II. Telangana

III. Jharkhand

IV. Harayana

Select the correct answer from the codes given
below.

Codes.

frrafafaa Tt & Tea W faem wmfg qer
TR HICITIhH | AT it

®<:

I Ter

II. qem=T

I11. ARETs

Iv. gRarm

(a) L 1L, IIL, IV (b) IV, L 1L 11

= e/ f. (c) 1L 1L, IV, 1 (d) IV, 111, 1, 1I
(1) STV S -7 Ans. (b) & gAfd 21
2) | - 52 gRamm - 1 a8, 1966
(3) faferm - 86 e - 30 7§, 1987
(4) TrMEATE - 119 RIRCES) - 15 FaaR, 2000
(5) femre wew - 123 LIGRIE] - 2 S, 2014
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46. Under the Constitution of India which of the

following is NOT a fundamental Duty?
O d@feam & erwta frAfafiea @ @
HI-HT HifeTeh e Tl &7
(a) To vote in General Election
AW @l | HAEH
(b) To develop the scientific temper
Sefe gfEebior &1 T @ faeE
(c) To safeguard public property
TS T &1 e

(d) To abide by the constitution and respect its
ideas

Gfew™ &1 GreH 99T 39 STEEl B G

Ans. (a) : Al Hdea @l fig afafa & fawRer w af
1976 ¥ 424 dfgum dened & mregg 9 Gfae & 9
IV-A # el T ada= § 3182 51(A) & dga afvid
11 wifeis Sdeq € 119 Hiferh shdea & a8 2002 H 869
fgae dene & JRu dfgu § wnfaer feer e an
Ayt g @ wEe, g g oG,
GfEUM &1 O q91 36 SAERT 1 G Hifesh Shdsd
§ e oW gAE § waed B SAER U Wi
ARHR 2, 7 % Hifers wded |

47.

Who among the following person said for the
Fundamental Rights "A pledge to our people
and a pact with the civilized world"

frefafas § @ fra =l X g7 SR @t
‘TUR T ok foTT wek e den we fay &
e feRam T wuEar’ et on?

(a) Pt. Jawahar Lal Nehru/afUsd Sfem@<eret TEE
(b) Dr. Bhim Rao Ambedkar/sf. “HUa AR
(c) Dr. Rajendra Prasad/el. RECAR LI

(d) Dr. S. Radha Krishnan/Si. TH. T
Ans. (d) : . TE. TUOFVE T gA ARER H TR
qEAT & WY AT T A u g gy % oy o R
fey et oan) wrfas & o fF 3% TSy & foau evafa
FrffersT wd faenfoe & fow areget o fean M e
S eTEEHR 4 qd SfYERl ¥ Hefm wm 3 @
‘Faifees STl W dEl o1 WRdE HfuE §oaa
YR 97T 3 F SR 12-35 T afvid 2|

ST AT, s, RN

(Parliamentry System, Central Government)

48. Which of the following Articles of the Indian
Constitution is related to Contigency Fund?

frrafafea & @ wrdiar d@faa= &0 sE-an
TTIE AT ey F wrarfeer &7
(a) Article 265/3TT=8% 265

Ans. (¢) : TR TfegH #1 TR 267 998 a9 T &
fourTredl & SYU-STu ‘eTefHs FREr wnfid = &
TR 3T 21 SSRAsar Ry U9 a1 usy & ugefy
Touret & o1 W S 1 At 98 e =5 & fd
F 9 79 a% & (¢ ABH €9 T G 99 a% (6 GG AT
foemmved 38 mitgd T T <A

R fAfer, Tt emeRfues afifteael &1 9 9 &
fow s STt @ RS orie s v g sed |
ST FAE A P eTefare A #1 ST 30,000
T 2|

49.

With reference to the special address of the
President of India, which of the following
statements is/are correct?

1. The President addresses the joint meeting of
both  houses of Parliament at the
commencements of the first session after each
general election of the house of the first session
of each year.

2. The president in his address informs the
Parliament of the causes of its summons.

Select the correct answer using the codes given
below.

Codes:

ORA o TEUfd & fowrw erfirarsor & w=ed &
Forifere § § RI-T1/W AT T /8

1. TEU(T, FHAA & YR Haiew & gy
Jom | X UAE 99 & YUW G & AW
TEE & S HeAl Tt Ugh ok hl Hallerd
AT B

2. qEUfT U AT H HAG T SHh SFH
& HIUT & fawe § giem s €1
T I & I, i @ ™ e @t ggEn
EdELy
(a) Only 1/3aa 1
(b) Only 2 /Fda 2
(¢) Both 1 and 2/1 3R 2 &t
(d) Neither 1 nor 2/F @ 1 T & 2

Ans. (c) : TR G % orese -87 § Sfeaifad € 6
quafd, @i TN F RO Fated % T8 599 99 30
TS a8 h FUH T H AW § HUE & I qEA
T 3 H T HIT 2

qufa e AR § GUE S 3Uh SR & RO &
forr & gfua e 21

Wy 2 % v 2 FUF g 7)o e (o)
g

50. Match List-I1 with List-II and select the correct
(b) Article 266/@ 266 answer using the codes given below the lists.
(c) Article 267/3T%% 267 Tefi-1 =t -1 § gafaa wifve qer grest
(d) Article 268/3T37 268 & e feu U e ¥ wE IR @ wee St
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List-I/g=A-1 List-TI/g=h-11

(State) (Representation in
Rajya Sabha)
(=) (TSIET | et )
(A) Rajasthan 1. 10 seats
TSTE™ 10 €2
(B) Gujarat 2. 7 seats
TS 7 |
(C) Karnataka 3. 11 seats
Flch 11 &
(D) Punjab 4. 12 seats
EEIE] 12 €
Codes:/sh2 :
A B C D
(@) 1 3 4 2
(b) 2 3 4 1
() 1 2 3 4
(d) 4 3 1 2
Ans.(a):Wﬁﬁ?}Tl’aWSﬁI@%Wﬁ
faffee 59 Fbr 8-
TeA-1 TeAt-11
™ - TSIAAT ¥ gfeafafere
TS - 10
el - 11
FAlCH - 12
9§e - 7

T 9§ TaEifye g W ogeer (31 §@e)
wd FH sfaffe G4 w9 ¥ Aemeve, g, fig,

vife=dt, feiw, AereE, sreviiee yavT, fafewy, mar (1
die) &1 21
51. Given below are two statements, one is labelled

as Assertion (A) and other as Reason (R):
Assertion (A): The council of Ministers in India
is collectively responsible to both Lok Sabha
and Rajya Sabha.

Reason (R): Members of both Lok Sabha and
Rajya Sabha are eligible to become minister in
Union Government.

Select the correct answer using the codes given
below.

Codes:

Hror & wew fwg Tm E, e @ oW
SIFUHRYT (A) TAT TERX I I (R) el T
g

feRe (A) : 9Rd H W oRue 9few w9 ¥

TR T TG ST % Ffd e 2|

HRUT (R) : AHEW 3N ToI@9l a4 & Ha&=

Tt FhR § HE g Y OEd i 2

Hfrer feu T e ¥ T ST H 9 S

he:

(a) Both (A) and (R) are true and (R) is correct
explanation of (A)/ (A) 3R (R) &4 &= &
3R (R), (A) F T A FTl 21

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)
(A) 3 (R) B 74 &, fF (R), (A) 31
AT TE FA |

(c) (A)istrue, but (R) is false
(A) T 8, fieg (R) o @

(d) (A) is false, but (R) is true
(A) T 8, 5 (R) 979 7

gns.(d)wi’rﬁmmaﬁasmwé, fepeg RO T
|

- Hfggm & =R 75(3) & IR | wf afug
e &9 § AT F Hﬁ% gl
- REW HR TEES I F TS GET wER §
i T e @ g
'Zero Hour' in the working of the Indian
Parliament means

O HHe wt wEardt ¥ 9T et v ared
g

52.

(a) The first hour of the Session/H3 T JIH =T
(b) When privilege motion are accepted

S feromfeer sare i i @
(c) Hour before question hour

T & o g4 1

(d) The time immediately following the question
hour/S¥= I & i TLTT HI HI

Ans. (d) : AT GHEE HEGE § TR & b &
G ¢ % ®YH T S 8 g I
1T AURL 12 99 ¥ 1§91 o HeA gl 8| GHE qfshan
§ Y, WRd # I F TH INE EEE 5N
ARG A Fe & el Bl TEG H 3301 I 2

53. Which of the following Bills can NOT be first
introduced in Rajya Sabha?

frafafaa & F wA-ar fadges Tomsr o
W O YT A8l feRam ST WehaT §7
(a) Ordinary Bill/SmemuT fq&as
(b) Constitutional Amendment Bill

i BENIE R DED
(c) State Re-organisation bill/T=T E:Pfa—'-f faers
(d) Money Bill/s7 fq&as

Ans. (d): T GfagH % T2 110 § o7 s &
SooRg g1 TPUd & T o fag9s gom an
dArRad # Y R S 21 A fodEs % dey A
TRl STeae i fAvlg 3ifaw gier 81 e s &
¥ fagae @ gHIfTd ST 81 UST 99 o9 fq9us @
Fad 14 &7 7 T Tl 21 14 Al & o 39 igpfa
1 B @ 3T 39 UST g9 1 9IRd HHAT S 2 |

54.

The public Accounts committee of Indian
Parliament scrutinize the

AT THE i Tleh TIET Wikfer Geiet el &
(a) Report of the Comptroller and Auditor
General/f53% 9 WeTeiEn Tlers & Yfada &t
(b) Consolidated Fund of India
IR i G Ffy B
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(¢) Public Account of India/SRd & <l @@l &

(d) Contingency Fund of India
AT 1 SARRHEAT Ay

Ans. (a) : o0 9 TROET TS & fdde & GareT
T §OE # A% ofa Oty & 81 e9 9fmfy &
3T 9RA TSR AR 1919 & F=id qgel I’ 1921
3T A11 THH (15 Aha § T« 7 TF 91 §) wfoed
TUS 5N 39 e 0§ sfafafee & frgia
¥ ITTER T v w9 % wrem ¥ de o 9fufd
F He@l F A A1 &1 T F FHEFE TH a9 H

(c) The President, after the enquiry conducted by
the Supreme Court

I A d S & T TP §R
(d) The Governor, after the enquiry conducted by
the High Court
I AT ST & gL TS 5
Ans.(c):?ﬁ%ﬁﬁTWﬁ%Wamaﬁ%ﬁ%
IR § wawE F g 3. 317 § & 7 81 e ded
ol Tl AT & eAel A1 S 9eS $l Ao FHIEN
F MR W & qPUfd & MY W 396 U8 T g1 o

ﬁm%lsﬂ%mﬁﬁgﬁﬁmawawwﬁﬁ

F1 21 Sty el o &1 gem @ 21 gfufy %
T FE & g TS F afie sfaeedr @ St

Hﬁ@%ﬁmﬁmwﬁwmw%

55. On the recommendation of which Commission/
Committtee, the Inter-State Council was set up

in India?
T ®E-9 mIn/Athfa

fawftor W e # r=ies uftee &t wImoEn

H TE?

(a) Punchhi Commission/‘i@% 3T

(b) Rajmannar Committee/TSTHA HiAfT

(¢) Kothari Committee/®I3RT Tf¥fer

(d) Sarkaria Commission/SReIRAT AT
Ans. (d) : AT TEgH & T=8-263 & Fdd Todi
F T a1 % U T & qF guad W w1 &
fory sradisy uRwe & wOAT 1 WEuE R T g
Tyufa afs et 9w a5 svevas wwe f6 UE ufvw &
T T fed § @ A 98 R ST FW Tebal 2|
TTh! FamhIReT TR 31T 517 1 T8 ot | e 3R
W ad 1990 # . e & A9 Al SHAT T WHR
TN ARIAT uRee &1 e fRAr TN U STeme
T @ 81 o Uodl % g v Heenfa s
% T TeEE T 9aE A &
YD ST WHIRET TR % R & 9% Fx R T
% FE W GHREER 3 5 TWHER Z 27 A 2007
N TS foRar T
TswER. fafd @ afterg, eR 3 22 faaeR 1969 #
T P HEE W ORE % R gae 3 A
Tifed @l ot
a9 1964 H H= TEHR 7 Thel o wone ¥ guR &
T et afufe &1 1T fFar wr an

ST AR (State Government)
56.

A member of state public service commission
may be removed by

T ¢lieh WAl MANT o Weed @i ger™@m =1

TRl &-

(a) The Governor on the basis of impeachement
in Vidhan Sabha/fem= g ¥
YR T IS gRT

(b) The Governor, after the enquiry conducted by
the Supreme Court
AT AT S F IL T

| 58.

Hhell 21

9 FEEN Y Hafd HE AMen P §N Heredw
AR % UE AT ST 8, T 98 3. 145 & FasEi
% STET WA F S AT ¢ IR ST ggE, TP
& o A dsiar 21 59 Rud & emum W & uyufy
aremrer o fohedl Wee &l g & RV &l 21

- €Y, YOTEA, W HIHR TS,
feises wd wererar ufiers  (Union-State

Relation, Administration, Jammu and
Kashmir State, CAG)
57. The primary duty of the Finance Commission

of Indian is
WA | T STET T yrefies eheed -

(a) To give the recommendations on distribution
of tax revenue between the Union and

States/¥% 3 T<Al % HeA B Tored o farawor
A

(b) To prepare the Union Annual Budget
e a1fiies asie TaR ST

(¢) To advise the President on financial matters

Tyafa @ forie Ame W owmet &

(d) To allocate funds to various Ministries/
Departments of the Union and State

Government/H9 d Tsd TR & ol

Harera/ faamt & faw fAfeei s fafqem s
Ans. (a) : TR TfFUE & TR 280 & dad YU
T U a9 W & S 1 e S 8| fad sman
1 TG hsd G S TS & F&7 H{ o & [eLor
g fawifter 3 2 21 foad et us wawiae g 2
THH TS eHY 3R IR G Bid & I % geEd &
AIgar e 39 9aq & Gfd & SR # Ay s @
HMUHR THe A 21 Y99 & ET 1 wed 1951 # fohan
T o e oremet .. fanht 91 sd9 # 159 fom
AN & e TA.b. e 71

frraters 3T, TerwTeT

(Election Commission, Official Language)

Consider the facts given below:

1. Sukumar Sen was the first Chief Election
commissioner of India.

2. Rama Devi was the first woman Chief election
Commissioner of India.
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Choose the correct answer from the codes
given below.
Codes:
frer feu Tw et w emm difvw:
1. 9RA & Yo 9T Haie 3TE<h Ghar 9 2
2. 9RA S Ugelt Afgen A fHaie g W
Tt oft
et g Y e @ v T g
e
(a) Only 1/%aa | W& &
(b) Only 2 /& 2 T8 3
(c) Both 1 and 2/1 3R 2 i T&t &
(d) Neither 1 nor 2/1 3R 2 1 Tefd &
Ans. (¢) : IR HfeuM & =R 324 § 329 TH
frafer SmanT % R § Sus fRar w81 R ¥ fratee
HEN T A STg-ie qaene e 21 a §Ee
AR T fque Aved % YIS Ued & fog qur qwefy
Td IR ud % fw gW a wft faefe @
arefieror, fodem et feEor #ar 21 gHE IO 25
Y, 1950 & @ T of| 36k ¥oH g fataq sTgw
GFAR §F 91 Ggell e qe frated R A
AU A (FrfareF) @1 aduE § g 91 9RdG &
243 qEF T A &1 A ¢ wgaE Hel gHa
¥ yom g 77 fafam o 91
waenfer Wd TR GWAumeR, = 3T,
LSTHTHT
(Constitutional and Non Constitutional
Bodies, Other Commission Official Language)
59.

Given below are two statements one is labelled

as assertion (A) and other as Reason (R):

Assertion (A) : The President of India

determines the qualifications of the chairman

and Members of the Finance Commission.

Reason (R) : Chairman and members are

appointed by the President of India.

Select the answer using the codes given below.

Codes:

Her @ we fag o €, fed ¥ T o

TR (A) 3T O T /I (R) el T &

ARTRAT (A) : T M & 3reTy o wIEt

o ISt s ferivr yra st agufa war

gl

T (R) LAY o TS i ITh AT o

gt & R E 7

Hfior fo ™ g W wEEar ¥ 9E 3™ @

=TI ST

C i

(a) Both (A) and (R) are true and (R) is correct
explanation of (A)/(A) 3R (R) A T E
R (R), (A) F T AT FIAT 2|

(b) Both (A) and (R) are true, but (R) is not
correct explanation of (A)
(A) 3R (R) a1 79 &, B (R), (A) 3T
S TE BT B

(c) (A)istrue, but (R) is false
(A) T &, fg (R) o 7

(d) (A) is false, but (R) is true
(A) T 8, 5 (R) 99 71

Ans. (d) : SR Sfewe § 7 s 1 Ieeig IR
280 # fohar man 21 faw mAm H uh aremy IR =R
= g 8, fme R pufa g @ S @1 S
PrEIFA TP F IUEIR T G181 A HGRR
Ff & Hhdl 21 GfeuE 7 §9e & 39 e @ argar
3R = fafy & i &9 @ AR G §) Wy @
f5 RrBe (A) ol 21 T SRV (R) W& 21 3%

T ey (d) TE 8
60.

Who among the following was the Chairman of
the first finance Commission of India?

frrafafiaa & @ &9 9T & gow foer e
T 3T AT?

(a) Shri. Santhanam/4i. F4=H

(b) Shri. K.C. Neogy/4t .4, faamft

(c) Dr. Raj Mannar/gl. TST HaX

(d) Shri. A.K. Chanda/#t T &. ==

Ans. (b) : YT & g9 a9 o7 & ofemer off...
fearft &1 gwa e A 1951 # faper T an) adAE §
1531 o oA P 7, s e ot TF. e 8
e ¢ f6 for ot &1 oA 9RdE SfaeH F e
280 % & A1 S 8| TEH FH@ FE G 9 TwAl
foriier fRafedll a1 geaie &1, 39k I & & Fear
F TG FE T T F AT T B A 7
fegidt o1 forerfeor sheem 21

61.

The National Diseaster Management Division
in India is the nodal division in the Ministry of
Home Affairs for disaster management. Who is
the Ex-officio Chairman of the National
Disaster Management Authority?

ORA ® ST Yeie o forg Tt ammuer weies

fedio g W ® U Arsd fedfiew #)

T 3MUST S UIRIHIUT T U 3TeT8T

I 8?2

(a) The Prime Minister/S&TAT

(b) The Home MinisterﬂE'q’?ﬂ

(¢) The Defence Minister/T&IH=

(d) The Health and Family Welfare Minister

@ree T qRaR HedroT §4

Ans. (a) : TET 37UET Ya¥- TEH0T T8 F0d § Th
At fediom 81 fwe e sreer gumEA 3k 9 I
WS B0 &1 U el % Ireel A 9 WS @l
b € ST W U bl Yo 3T, UL A Bl §
e goft Ffame @ft % THwr BT @ qu o Hewi
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F T T B F IER I g1 WRT THR A A
Yaed & TEE MAfehdr A 1999 § UH 3=
@ 9 & Teq fHATl Feifs av 2004 § AR &
Y ARG TR A TS Yeed w2005 &t
sifufrafia feam) gt sifufaam & g ot euer weeE
TeRCOT (T.€1.UH.T.) o T3 f3har T g9 Sitaeiis
T 27 fadaR 2006 I fHAT AT A7)
TASIUAT. & T —

FRHIE T e #

ST e IESUEE

Tt TSTeHeeT o WG W, Tyt

(Panchayati Raj and  Constitutional

Amendment, Schedule)

62. Consider the following Committees on
Panchayati Raj and arrange these in

chronological order:
I. Ashok Mehta Committee
II. L.M. Singhvi Committee
III. B.R. Mehta Committee
IV. G.K.V. Rao Committee

Select the correct answer from the codes given
below.

Codes:
vemEedt T W e wiafaa W faem #i
TAT TR HICTERATIHAR AT s
I. 3797k Agar Wt
II. Teu. et wfifa
1. sf.eTm. Tgar aftfe
1v. Sfterdt. v afufa
Hfior fo ™ g W wEEdr ¥ 9E 3™ @
I i)
(a) L, 1L, III, IV (b) IIL 1, IV, 1I
(c) IL, I, III, IV (d) IIL 1L, IV, T
Ans. (b) : T¥d GEmEd U9t W e Wl 1 ey
foreterd 2-

oft. 31 Fea Hufe- 1956 3.
379l Hedl Gfifa- 1977 §.
ST, 41. e Eff- 1985 .
Tl uH. et gfify- 1986 %.

e 8 - 739 dfawm deiem sfufEm 1992 gw
T TS HErs A HaEe oo W gen| S
243 (@) 9Ra § Pready doed U9 SEen # gEEH
Far 2, Fed I8 T H AW W W AW 9,
Tl TR W & TEEd 3R R TR R e g9 &
TS I TG B

63. Which of the following constitution
Amendment Acts made necessary provisions
for the implementation of GST (goods and
Service Tax) regime?

frafafga & @ w-Tn diguae geies
sttt e, (@ @ Qe wY) Fom
waE o oI STaveeh WaenT s §7

101* Amendment Act/101 af G3me ATy
102" Amendment Act
102 g Hemem affem
103" Amendment Act
103 af Heme Afifaem
104"™ Amendment Act
104 g deme safifaem
101 af Gfeem genea tfafem 2017 & wfid
33| 39 EEA ¥ 9% Ud AL (GST) & Y&
TE| UE T SIEHH ¢ S 9RG H aeqel SN warsd A
O W T 11029 WywE "ened 2018 ¥ Wi
o T S et fywer a7 SN & e § gafud gl
1033t dfgam deieq stfafem 2019 & wiRd fvar mn
S e &Y § FASR A B 10 Sfw STR&0T &
g foHa T R
104 9 wdfge demed 2019 & 9Rd fFar w=m g
A 3R ferawel § syl e w6 st
SISl o foTT STRequr &1 37@ary i 10 a9 % foaw 3K
agr fear T
64. Which Constitution Amendment Act reduced
the voting age from 21 years to 18 years?
HIA-T i e tfrfad grr qag= &t
MY T 21 9 | TR 18 a8 femarm T em?
(a) 66" Amendment/66a HIMET
(b) 62" Amendment /6237 HIMET
(¢) 61* Amendment /6157 G
(d) 63" Amendment /633 H3ME
Ans. (¢) : 619 Hfga dumed =fuf=m, 1988 & g0
TR R 21 a9 § SR 18 a8 FH & fou
Hfae % ST 326 H TUEA R TN AHTA I
[T GO A HAY: 15 S 20 faHeR, 1988 & TW
sAfafem @ oRa fean, qon ugafa @ ewEfy 28 W
1989 1 fieft 3t g&ft fa @ gam
66 af Hfaema €yies 3L, 1990- 39 g Al
mﬁﬁfﬁam%ss J-geR e gud wnhe
|
62 |t G Honer 2ftr., 1989- 39 5 TR
St Ud eTgfed SN # SR WH Alswd wd
e § ema-wRdiEl & sfafafae # 10 a9 # (a9

(a)
(b)

(c)
(d)

Ans. (a) :

2000 %) 3fg F |

63 af HfaermT Honed, 1989- USd § S o

ST 3T &A1 & A T |

farferer (Miscellaneous)

65. Which one of the following is NOT correctly
matched? ]
Frifere o & shi=-|1 I G e & 87
(Subject)/(fersr=r) (Related Articles)/

(Tt ese)

(a) The separation of - Article 50
Judiciary from executive

[T & - TR 50
T TR
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(b) The promotion of - Article 46
educational and economic

interests of scheduled Castes

and Scheduled Tribes

/FIgfaT S a9 - TR 46
SrTgfe SFSTE %
teiforeh o anfie
fedl @t stfvgfs

The promotion of
Co-operative societies

[l qrEmEdt &
Tagq

- Article 43A

- 3T 43 A

- Article 40

(c)

(d) The organisation of
Village Panchyatas
and enable them to
function as the units
of self government
/AT e B TS - 3TERR 40

3 3% T e &

TR & F9 H HE B

g T

Ans. (¢): JoT fomg 3R ge=fem oif=d &1 @&

qifer P 8-
Trfer ST

Teror
TECART & HTaI TR

IR - 50
ITRT - 46

T GFHT -
srgfed Sfaar dor -
ST SHSaal &
St qor e fad

@ sl

M Y= H e -
3N IR @ A

F REA & w7 H

FE HE AT T
FTBT -43(A) A & Yo H FHGR & 9N A &
T § 21 3TeR 43(B) o ded Tsdl i Ig Ak faan
w%ﬁ%mm(qﬁﬁ)%ﬁmm
WA GO, Aiddite EI0 qe SFediie Yo i
Wl%aa%waar%ﬁsa%a@awé‘qﬁmwﬁm
2011 g0 dfeee & S mn g1 e fased (C) W@
Rl
66.

FTHT - 40

"Can you show Me one free country where
there are separate electorates?
........ The British element is gone, but they have

(a) Somnath Lahiri/Se=er QIS
(b) Jawarlala Nehru/STarg{etre EFEa
(c) Sardar Vallah Bhai Patel
TER goay 9 o
(d) N.G. Ranga/TA. Sit. &1
Ans. (¢) GfE€H T & 989 § §ER doodq W 9o o
Fg o fF ‘o g uF ff wiF 2w @ v §

&l g AAMER ... IS I § Weg F IRA
Big MRV
67. Consider the following and arrange these in

chronological order:
I. Golak Nath Case
II. Keshawanand Bharti Case
IIL. 24™ Constitution Amendment Act
IV. 42" constitution Amendment Act
Select the correct answer from the Codes given
below.
Codes:
I. TR a1
II. R HRAT a1
111 244t Eferer geier stferfem
IV. 424t Ffeerm gyt stferfem
Fe :
(a) LIIL 11, IV (b) L 1L, 11, IV
(¢) OL L 11, IV (d) IO, L1V, I
Ans. (a) : ST el T Tet BIAMHA FER 8-
— TR 9% — a9 1967
— 2497 Hfgue dee sfufEm - a9 1971
— A= IRAT a1E - 99 1973
— 4241 dfayE demed stfufrem - a9 1976
68.

Which one of the following is NOT correctly
matched?

frafafes & @ ®F-w & I w9 gataa
& 2?

(Provisions)/(WTSIE)  (Sources)/(ENd)
(a) Fundamental Rights - USA
- HgH TF TR

(b) Directive Principles of - Ireland
State Policy
Ts7 & Hift frdes 9 - smERdve
(c) Residual Powers of
Center

F% & ofafvTe wieat - sefeEn

- Australia

left mischief behind". ‘ ‘ (d) Emergency powers - Germany

Who among the following said the above % - o

mentioned statement in the Constituent _ _

Assembly debates? Ans. (¢) : TRAE HfFwE & SFER Al wkeat &5 §

‘o oy U Uk oft s v o weRd €| |FfRA § 9w e & dfawe @ fomn wn @1 wrdw

Tl Yo AT & ..... 31U I ok ¢, U | [Sfae & 3783 248 & ded GUg @RE wRedl W

o INRA B T g1’ FT I Tl ¢ | Hiferh SR WY T SR F,

frafefae § @ fFEY STtk areT @ wiaee | [T59 & A fRYs @ sTRReve § q91 U el
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3néreR feem TE T sTa/eSE

(Economic Planning and National Income/

Budget)

69. Which among the following is NOT a major
factors of economic growth?

Trfefeaa § | siA-91 i T &t ygE
wH TE §?
(a) Accumulation of capital and reforms in
technology/si &1 =& Td Tehrildh GHN
(b) Change in population/SHgw@ § gRad=
(c) Division of labour in specialised activities
fererdtera fopamstl/nfafafermll & sm fawrem
(d) Technocrats and Bureaucrats
Th-Ih(ag Ta HTHE
Ans. (d) : THAIHEE TG AHETE B S fHHE &
TG FH e T A s o % g
g T guR, SH9en # qRedd o fasmdied
nfﬁfaf%? H o faaee onfie faem & w@ #ne |
wtHet g1

HIY, I T ATIR

(Agriculture, Industry and Trade)

70.  Which of the following Institution/Office bring
out the Wholesale Price Index (WPI) data in
India?

ORT H oieh god gudhich (WPI) & 3t

frafafed § ¥ -9 6/ /wEed S

AT 8?2

(a) The Research Bank of India/HRdta feord &

(b) The Ministery of Commerce and Industry
TSI Td I HATE

(¢) The Ministery of Finance/fo #area™

(d) The Ministry of Consumer Affairs, Food and
Public Distribution/SUsIehl HHl, @ T

TS foaer Jarea

Ans. (b) : 9% oA YAHI® b 3Nhe AT TG AN
T % SNE TRHR FEE g ST B R A
I qod YAHis & NS U 14 G & Heferd
fopT ST 21 forgehr e & 2011-12 71 37 TamesR
FRAT G T SAHST H JeE 2021 H TEEHIT &l &
11.16 wfrer (sfm) @ 21

T/dfRT Td W Wumell, R T o
W& (Monetary, Banking and Taxation

System Center State Financial Relation)
71.

Headline inflation refers to the change in value
of all goods on the basket. On which basis is the
headline inflation measured?

iR § weft awgelt o e W

(a) Wholesale Price Index/4i I gahih
(b) Consumer Price index for industrial
worker/ ¥ IUHIH Jod Gahich
(¢c) Combined consumer Price index
e ST e FoHi
(d) Urban consumer Price index
Il IUAIH qoF T
Ans. (c) : e gErEwfa 2l § aeff awqeti & g
TRadd @ gaRid & 21 v gEedife & oA
Tqrfesh SULIE qod ehish & YR R f6ar ST 21
IUAIH Yed gABiS (CPI) FAa asgeil i Tarsft &
G qedl % W A G & Qi a9l a8,
W UF RN GYE F ITAREN AT AT T B E
. damE. S emeR ad 2012 7|
I oI gahis (WPI) 9Rd § Haifes swawe foar
S el EIEHIT Hehaeh 1 T T R § i fas
F Ted fufga fF S At @t a9-a e @ €
T SN a9 2011-12 B
72.

With reference to the 'Capital formation'
which of the statements is/are correct?

1. Process of capital formation depends on
savings and effectiveness of financial
institutions.

2. Investment is the essential factor of capital
formation.

Select the correct answer using the codes given
below.
Codes:

‘geft frmfor’ & weed ¥ @E-T/A wmew wd
/8
1. Usft frmfor =t wfsman st ofin fofiar wemsit
i guTferar ¥ faedt st 2
2. frawr geft frmtor & fore wes erframed @mes ®)
Hfer fau T e @ wE ST @ g
e
(a) Only 1/%ad 1
(b) Only 2 /Hda 2
(¢) Both 1 and 2/1 3 2 &t
(d) Neither 1 nor 2/F @ 1 T & 2
Ans. (c) : Goft Fmfor &t wfshan et o ferftr deemsit
F yefaar w el S @ o faw oo fmfor & fa
TS A FRS &1 9 T F TN IcAEA I A
& &0 H g a9 qS 1 fmior g &1 gsh i v o
afy & A o= Gt Frew, oSt Wy % g § g
3fg & SR B 21
73.

Two statements are given below, is labelled as
Assertion (A) and other as Reason (R):
Assertion (A) : The government faces a tough
time tackling the bottleneck inflation.

Reason (R): The situation is due to deficiencies

ufad= i Hefifa et g1 v Wﬁ <Rt existing in the economy such as supply
T ferer ST uR feRa <iraT &2 bottleneck and inefficient distribution.
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Select the correct answer from the codes given

below.

Codes: qm .

fer 3 s fa o €, o & uw i afiemes fST (Physics)

(A) qar W T ST (R) g AT 3 75.  Which of the following types of glass can cut off

ARTHIT (A) : TEHER H Hawg IO A ultraviolet rays? ,

Frae % RTT e T T WIEAT ST e ﬁwﬁaﬁa?r.aﬁ ﬁﬁ;ﬂmaﬁ?—mmmﬁ

@NUT (R) : g% feafa srfemewar ¥ smyfd ROl =0t et §7 .

T qAT W AT A el H w0 (a) Soda glass/FTeT #9

gﬁr-i'r Ky (b) Pyrex glass/m Fr

et fau T %e ¥ T I w1 TE St (c) Jena glass/SIHT &iE

F: (d) Crookes glass/5hd Fa

(a) Both (A) and (R) are true and (R)_is correct | |Ans. (d) : HF HT T T B FRA 2 T-
explanation of (A)/ (A) 3R (R) 2l &7 ¢ ||[ditem areeize, fafeen onfe ¥ fyee &1 &m@r 21
R (R), (A) H LI AT LT 2 WW@WW%WW%

(b) Both (A) and (R) are true, but (R) is not the | |l TOeed Sogey geher 9 BT q9 g1 fon &

correct explanation of (A)
(A) 3R (R) a4 97 €, fFq (R), (A) 3 &
T & LT |
(c) (A) is true, but (R) is false
(A) T &, fg (R) o 7
(d) (A)is false, but (R) is true
(A) T &, b (R) O @
Ans. (a) : Waﬁmgﬂ{:ﬁﬁ@ﬁqﬁ%m
Wwwwwm%wwm
# ogfd srgud qor ower feRoT € @1 59 g uH
A B S @ SR A SE WO A @ 2 5w Refy
FI FEG G Fed &1 3 FH (A) AR (R) AFI
T § 3 BN (R), HIF (A) T Tl &A1 HTl 2

TRA AT 9T SMUR TS MMfaeh W8, IR
aei¥ (External Trade of India and
Economic Organization, Share Market)

74. 'SENSEX' is the popular Index of Bombay
stock Exchage (BSE). It is measured on the
basis of how many blue chip companies listed
in BSE?

‘OO’ TS Wieh UaRAeIS (BSE) T WeIfera
ok 8 tuEd. ¥ gelteg fwadt =7 fog
HUWTT & HRT WU TraT &2
(a) 20 (b) 30
(c) 25 (d) 10

Ans. (b) : ‘THF ae W% TS (BSE) &1 S=fer

i 2| I8 fafwe et & el o fag FwhE % 30

Tuar e W MRa YEhis &1 e 1986 H R

fepam T o1 so fod Sud Ul shufEl @ e S g,

fSeT TR TR, AR A yae B R @ 2

TE Ul T S P g AE S9aT §gd HW e 2

T A FHEE GO 3 At Arhe U areh @ R

3T & foru wRa # Rarw ey, Rgwm gfde,

Qe % o 3fiear, 2er suaed afddw anfx o

afeeh 1:-1%1 W T, T, WgshiEe dftgent afe s fow

i B |

Afere Bt 71
;3NN W 9 | WET Rl § gue ool
ST ST T B &1 B i el el % faferet @
srecia g S 31 o F & IUAT gy v &
g % fmior #, wETd o & gen 8, aw e
Fi T ST AT & SUHT a7 F Bl |

76.

With reference to the electric potential, which
of the following statement is/are correct?

1. It is a scalar quantity.

2.1t is a vector quantity.

Select the correct answer using the codes given
below.

Codes:

e fawa & ded # fafafea wai & @
H-ALA W E/E?

1.9 Teh 39T T R

2.9E Wk |l Uiy 1

o fou 7@ e @ 9 ST @ wE S
<< :

(a) Only 1/3aa 1

(b) Only 2 /Hda 2

(¢) Both 1 and 2/1 3 2 &t

(d) Neither 1 nor 2/F @ 1 7 & 2

%ﬁ%ﬁgﬁﬁrﬂawmaﬁma@qﬁw
2, 38 ‘9’ ot Fed &1 forgd fave ww eifew T §,
s & Aqe fram @ ed T S 21 e @
U el =rer 7, fEe SROT d9rer e 8

77. 'Ringelmann scale' is used to measure density

of
“RireraT Rt &1 g fefafad o @ feash
T qTOT § BT 87
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(a) Smoke/g3Tt

(b) Polluted water/ﬂ@ﬁ STl

(©) Fog/aﬁgﬂ

(d) Noise/&f
Ans. (a) : ‘TOTHT W F1 TN g (smoke) & A
® wod F A @ 21 el @ ae e § fean
S 21 STl SgHUT B A3fEr (BOD, Biological oxygen
Demand) 3 AET % 0 S B Sl 21
78.

Diffusion of light in the atmosphere takes place
due to

IIATSE | Yeh1IT & FER T HIT §

(a) Carbon dioxide/®e STEstiFaEe

(b) Dust particles/¥cT hUT

(¢) Helium/giferam

(d) Water vapours/Siel a9
Ans. (b) : 59 YT R T wreAm § oA @ fored
S U1 T I TR % AN eH 0 B9 §, e
FUI & EN TR aEvET ¥ (FS fIwn § e a° 19
feem & #7) S@Ra & S @1 S TS ® H H
FEHIUT T TSN HT TER Fe & |
79.

Which one of the following reflects back more
sunlight as compared to other three?

frafafad § 9 @F o= o= @t ger |
AT g o AT uRrafed st &2

(a) Sand Desert/Ad &I M

(b) Paddy crop land/sT= &l Wt F qfiy

(c) Land covered with fresh snow

arsT o § g iy
(d) Prairie land/337d "ﬂﬁ (gerefiarsT)

Ans. (¢) : i T 30w famedt § wod @ g &
e H AT a6 ¥ e 9 wEdd s 81 g
et &1 few 70-90 wfoww, wEwId 60-70 S, =9
& e 14-37 S d9r SOl 59 10 SfwE 9
W F 1 9 gd et R avg W e @ @
O WER WEfdd & T 8 IR FB I A W
ST T fora Sm 81 9o 1 Wafdd s & e
ufesel (albedo) FEAT 7

A a7 (Chemistry)
80.

The blood glucose level is commonly expressed
as

Th | ITRT o W WEda: Yeivia fear
AT &
(a) MM of Hg/UHUH 3% Hg & &9
(b) Milligram per decilitre

foefom sfq Seicier & &9
(c) Parts per million/a2d ¥ fafersw & &9 #
(d) Gram per litre/ZmT® ¥fd fereX F w9 I

Ans. (b): T H T & WX A feimm ufy
el & w9 # weRRfa fFar S @1 g @
= % YRR & TS @ A 80-100 e/ &
= g 21

81.

Which one of the following is the main
constituent of LPG?

= ¥ | e-91 TSt s g eeEd €7

(a) Hexane/g (b) Pentane/T=+

(©) Butane/@?:f (d) Methane/399
Ans. (¢) : TA.HSH. & q&F 3fagd g4 q91 S 1 2
TS F o Am e Ciftan T9 g ggd
T % T g Wahed (CH;-CH,-SH) faremar s
2 dife Rdra 1 e oA ST ek | THH IUAN g %
&g # fan S 2

82.  Which of the following is NOT correctly
matched?

forerfefiam 4 w-aT wE A T 2
(a) Acid present in
vinegar
o # 3ufted s/ - wEiRRs v
(b) Compound present - Calcium
in bones Phosphate
et & sufteq dife - Sfevrem widhe

(c) souring of milk - Nitric acid

- Acetic acid

T8 H GET B - TEH

(d) Acid present in - Hydrochloric
gastric juice acid
MY @ § URed - gESiadiis 3T
Sl

Ans. (¢): 39 % T3l B F HRUT ddfdesh 3l Bl 2
e § sufted or-udifes o, wfgal § 3ufted
T eh-hieT@d  Biehe, SMRE W H Iuftyd 3m-
FESIFdRe 3 2

83. After cutting cucumber if salt is added, then
water comes out due to

R &l FHewt gfe 0 AT ST, af e

T @ foren smrur Ut frererar &2

(a) Active transport/dfshd TRag=

(b) Passive transport/[ftha qieg

(c) Osmosis/TUHLT

(d) Diffusion/aR
Ans. (c) : @R &I HEH A TS STl S @l TIELT
& SO UM frherar @1 S & e "igarel & faerEd
T HSUT et ¥ e R e @ @ feEs &
3] foeel UR R F TigAT Aol faere ¥ sifs drs
A faeed & SR T F 81 AR S WO T e
ferem 8, fSTge SR srgurre Rieelt g1 e f6a g
ot & aisarel & fafwar & SR I TR <

2T 21
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84.  Fruits stored in a cold chamber exhibit longer

storage life, because
Ifia JeRis W el HENUT €Y WERW S| gar
¥, it
(a) Exposure to sunlight is prevented
T4 & ThIeT BT GG T g @
(b) Concentration of CO, in environment is
increased/aTd@RoT § Fgdl CO, Higdl

(c) Rate of respiration is decreased
o X H B
(d) There is an increase in humidity
T e

Ans. (¢) : 3 JFS (Cold chamber) ¥ Hell a4l 31
T gt % 49T & H & S P BRT I AR
U % SN YA @ U 3 |
85.

Which of the following particles has zero
charge?
frfeafiaa o @ form ur WX 9= 3TraeT Brar &2
(a) Positron/dTsiig™
(b) Neutrino/?{@:ﬁ
(¢) Electron/3aai=
(d) o-particle/3TcHI-h0T
Ans. (b) : IR T YA AR H0T 1 31 TR @il
gigel I ol Jafs s RUEfE dur WM
YA BT §1 Foldet, Mol q9T <geiq W go Fu
21 wader € f6 golagi= 1 Wiaeur wifigie st
tedae 2 8|
86. Nitrogen is NOT an essential constituents of

SIS Ueh ATV Aqad &l §

(a) Chlorophyll/a?ﬁﬁﬁcﬂ Eal

(b) RNA/3TR. TF. T. &

(c) DNA/SI. T4, T, &I

(d) Carbohydrate/FTaeESe *
Ans. (d) : FEEREIH, FET T FEEOH qdT e o
foee a0 &1 gHH AiEgiee IuRyd T Wl 81 S&fh
FANMPA, MMUAT. d AT H ARIeH TH
AEYIF IFFFAT h ®Y H U WM 21 FHEEEIEY,
foretfem, S, S, @frsteau snfe sq@ davs g2
87.

With reference to the radioactivity, which of
the following statements is/are correct?

1. Radioactivity is a nuclear property.

2. Hydrogen bomb is prepared on the principle of
nuclear fission.

Select the correct answer using the codes given
below.

Codes:
Aeaerfiiar & aud & Frefafad o= & @
H=-T/8 T §/E?

1. Yfearafiar ©e e o R

2. A faEvs & fag W oERgee 9w
SETIT ST §

(a) Only 1/%aa 1

(b) Only 2/&ae 2

(¢) Both 1 and 2/1 3R 2 &t
(d) Neither 1 nor 2/F @ 1 T & 2

Ans. (a) : Y50 ¥ ¥ 99 91 9 dd o @ foafed
B FB HGYT T T Iee B Ed €, edl i
A B § A I8 " \ed ufeEar A et
FEAR 7| S WeAahT de & A § 8 arel aie
& <R R & s H @ arelt & &1 ot § uRadq
& IRUTH Y I Tl AT el wEeld

TSI aF e Helie &wal T s9 6 #3 A
SR B 8 SEe P A Gored fagia W) e
ST @1 A forgued & Rigid W gEeeH a9 s
ST 21 3 f4ed (a) T B

g faa= (Botany)

88.

A clove represents to which of the following?
@ freferfaa & & fergent oo &2

(a) Terminal bud/3TTe eft

(b) Accessory bud/9gre Helt

(c) Flower bud/%e shelt

(d) vegetative bud/aTEdfd Helt

Ans. (¢) : BT & Hl F1 01 21 i wH ot &
Ffifra HRATEEAT AHF HeAH FT AT HIEER e
g I

HfAHT 81 AT TH FHR H FH 21 3H
aﬁ@%mﬁ%ﬁwﬂﬁmw%

89.

Tapa cloth is obtained from the plants of which
one of the following family?

Trafefea ® & fore eT & WY | <TuT HugT
SETIT ST &2
(a) Asclepiadaceae/3TREe TS T
(b) Moraceae/ARHE!
(©) Gramminae/3H9=t
(d) Malvaceae/dead!
Ans. (b) : TRE FA F T F A HYST FAA A 2|
2T Fugl e VS F o ¥ S o 2l 39 o
Y A1 SIS & dteil By § @ S @1 d AR ot
F & W §1 T Fuer gemm: 2, WWSﬁIW?Jﬁ
9§ S S g1 gHe faf o § stemT-sterT AW ¥
TR S 8- §a &9 H P Wit § Iar o)
90. Which one of the following pairs is NOT
correctly matched?

?ﬁlﬁwﬁgﬂﬁﬁﬁq—mgwnﬁgﬁﬁaqﬁ
?

(a) Vitamin - A - Orange
faarfi-A - g

(b) Vitamin - C - Lemon
frefr-C - dg

(c) Vitamin - D - Cod liver oil
fgefim-D - FE A F AA

(d) Vitamin - B6 - Rice bran
fqeTfi=-B, - g & AR
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Ans. (a) : A A & TE@ENS W WA 21 g
GIs Ao T i1 THET FNT MR, qW, 3L,
TWATET dd R 21 IWH BW G A
wief, SRreifemn, dHe & @ o B 2
o &1 TS T TEEE TE 21 9E
TG F FA A0 E 21 faerf & g, |
arft, @2 verd e § fierr 1 frifte-St
T Hemhia g1 TR &9 9 Reeg
fefie B, 1 TR A1 qEdei
wHifEr, = O A 8
91. Botulism is/ﬁ'l%ﬁ;l\_rq %

(a) Food-borne infection

153 agre § g+ arer Gehyur
(b) Food-borne intoxication
Grsg- et F B arel v

(c) Water-borne infection/STel-Sifd HshHUT

(d) Water-borne intoxication/STa-Sif-d [EESIEG]
Ans. (b) : TEAH FI AU & & F ST A 21 T8
T$ 3A9 @ TR S § S us Sfan (Fenifsam
TEASH) THAT F FHROT G 2| TG A STerT-3TAT TG
& o & g & foh A 8-
(i) Eras= sefasy
(ii) =Ta TEfasd dar
(iii) ey smefersH
e ferferedr TaF (S=1 T9A™) (Zoology)
92.

g7
.

Given below are two statements, one is labelled
as Assertion (A)/ and other as Reason (R):
Assertion (A) : Human body synthesises all the
vitamins required by it.
Reason (R): Vitamins are essential for proper
growth of the body.
Select the correct answer using the codes given
below.
Codes.
frer S @ fog o €, foed & T @ afvenae
(A) T TEY ST ST (R) HaT T &:
ARTHRAT (A) : T KR 0 o eyravas gt
fereTft s HocTsuT Y oIl |
HRW (R) : IR & 3hw o & fow faerfim
e 2§
o fau 7@ e @ 9 ST @ w9 St
e :
(a) Both (A) and (R) are true and (R) is correct
explanation of (A)/ (A) 3R (R) I g
3R (R), (A) F T AT FIT 2
(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)
(A) 3 (R) 3 71 §, fF (R), (A) 1 T
AT TE FA |
(c) (A)istrue, but (R) is false
(A) T &, fhg (R) ol 7

(d) (A)is false, but (R) is true
(A) TR B, g (R) 99 @
Ans. (d) : ﬁaﬁ?wmqwmﬁﬁé ST fop T
-| | e 3fg wd surdeE fpemeit & fw stavas B €
foeTfir =1 foraretl § 3o & T S wd § a9 3%
fafT Fd €1 3% HFR HeRe SRR W HEl Sl 2l
qea TR o fou stavgs @it feifie & e
T e ? (fqaifim- K wd i D &1 sigwt) | o:
FIT WA 21 VR F Shw fowwm & fau feerfm
e 2§, 99 B
93.

Which of the following vitamins is essential for
normal vision?/ATHT= (¥ ED fog

T -7 fae1fi Tavaes aiar 872

(a) Folic acid/®ifeis 310

(b) Riboflavin/TgswAfa

(¢) Niacin/fanfe=

(d) RetinolAfeAra
Ans. (d) : AT ¥ % forg et (efm-v) faerfm
HEYTH B 2| THH HH b WG § wGA g &=
IS 1 STebia, Widt, g sraeg T, HEHRE
anfe Renfar g &1 gy, e, ofEl, a%d, geel &
T, T 3 =T & g & § |
94,

Site of gaseous exchange in lungs is

ThRgl B i fafme o e

(a) Tracheoles/m

(b) Bronchioles/siffehares

(¢) Pulmonary vein/TadIH fIRrE

(d) Alveoli/zifeaarars

Ans. (d) : B5sl ¥ THT ot #1 e e a
FHIEH &1 TIHNSH B 46 0 H =TS T
FTATS TP FeT A 2| T A A % FH G A
g @ g T # 2fem Ame o # W @, fwe
fefearey off er smar @1 S e 2fem &€ i #
fornfors & star @, foget sifeaa =@ #ed &1 siffad
F o T TH et Wl g, R sifadend
Fe 8|

95.

'Blue baby syndrome' is due to the presence of
which of the following in the blood?

T o fefafaa o 9 feraant sufterfa & wror

‘o Sreft g’ e 27

(a) Haemoglobin/m

(b) Methemoglobin/BeHITeAfaT

(c) Lead/ds

(d) Nitrate/Tg22
Ans. (b) : TF | HeHIEfeA &t IuRYfy & HROT S ol
fasw ame fmd et @1 drenfaT Agurenfad H
et IR H fefis gl $9 & 3 7, 399 IMN
¥ g (e7ufd @ &1 e geAn) & g9 39 @
ST 81 U FEEhl # qor H e # e i
FA 21 SRS i W TS 6 g W difed =
T H T I R GUR T 84 W g off I g
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UM 3R Gfesl % AreAm ¥ Afus AET H AR o W
ot T EHelfe 3 GEE 399 8 Ghdl ¢ | HAH A
T @ gu o off g S o & Tt 71 e
TH UM & Haq § F91 =ity

96.

Riboflavin deficiency causes which of the
following diseases?

@ wH ¥ o § ¥ - A
gt 87

(a) Pellagra/Sam (b) Scurvy/=Hat

(c) Beri Beri/ad-sidt (d) Cheilosis/%ﬁﬁﬂ?
Ans. (d) : 93ATHE fRIA-B2 (Teaivafad) s 4
B AT A 21 g9 [RIlE & & 9 8 At e I
T H BT, (Gl AT B, [T wen faefE
e @efe A 2d & S iR & U
sifafshaned (Metabolism) # I # fepamstl &t fafa
FA B T% GEFH SR & ®Y H YI H AR S 2
-8 I - foerft B (amafie) &t & § @ R
whdf - faerfie —C (werfds i) & &4 9 & 21
Yo - faerfid B3 (Reifemee o faifee) & &
T g arer I 2
97.

Which of the following is NOT mosquito borne
disease?

frrafefiga o & SiF-9T 0 s i T &2

(a) Dengue fever/@ﬁlﬁ'{

(b) Filariasis/®EaRamag

(c) Sleeping sickness/fsT T

(d) Malaria/meifar
Ans. (¢) : 151 U (A fgeam) =g T feumm
A TS % BN 9= gl 81 I8 Uh Welal 8
1. afRgal (Tse- Tse fly) & TR H 2119 et 21
afergdl & e ¥ A0 IR F gEE B S §
orfept Tt ag S € o vriiRe qen A
IO g S @1 S R, BEdRanyy ik @elRen
Esh Tl & |

5

&

qiaRur ue grRiefoent

(Environment and Ecosystem)

98. The concept of 'Carbon credit' originated from

‘IS hise' Sl TUTUT IUH T3
(a) Earth Summit, Rio-de-janerio

ard wfe, Ra-2-afw
(b) Kyoto Protocol/@el Fietehict
(¢) Montreal Protocol/Hif=2ae Siehict
(d) G-8 Summit, Heiligendam
-8 wite, gefisien
: ‘RIS hige' &I STFUNUT &I faHhE Ft
Telda & S g T@ SFUEE T W Ieds
0T S A5 21 FEA e T AR AT THOT IF
I I 2 SN OUNG & | 27 Hled S AFAREE AT He
TR AfEEE F dAfdE AT gEdl F IR 3 gRae

9l (S 76 1 2 Co, & e 811) % Icqsi &
AYPR IA 21 FET WeIHA F FIwR -12 # afvfq
‘@=g fq®™ @ (Clean Development Mechanism) &
ST, IS, HKd A IeqeA AHA0T 7Y ufas HE
fgofad 3w a1 = SufEt, g fawmsfier aw H
IS H ATt ol H A9 R FE e a

Tt 21
99. Match List-I with List-II and select the correct
answer using the codes given below the lits.
Tft-1 ot Geit-11 § gafaa sie qor giest
o i fou g e @ 9 ST @ T St
List-I/g=h- 1 List-TI/g=h-11
(Biosphere) (Location)
(SremUge ) ( eTafeerfa)
(A) Similipal 1. Uttrakhand
foferettarer ERRUCLES
(B) Pachmarhi 2. Meghalaya
EELC)
(C) Nandadevi 3. Madhya Pradesh
et T Ja
(D) Nokrek 4. Odisha
ElETC] stifesm
Codes/%e
A B C D
(a) 4 3 2 1
(b) 4 3 1 2
1 3 4 2
(d) 3 4 1 2
Ans. (b) : TIAT SIGHUSS MR Td 39 ARl wal
FAfer 39 TR §-
qelt-1 qelt-11
(SemUEH ) ( 3rafeerfe)
fafefiora-  stifgem
e - T YT
- ST
AR - HETE

100. Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R)
Assertion (A): Various components of an
ecosystem are not interdependent.

Reason (A): Human activities have the impacts
on the environment.

Select the correct answer using the codes given
below.

Codes.

d=r & wew fag o €, fed @ o oW
TR (A) TN TERX Rl hIUT (R) <hal
RIS %z

AMTHLT (A) : TRRAfrFT @ & fafay e
g # UH g W) el 9d §

I (R) : A4 fhamell § armawor soifed g 21
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o fou 7@ e @ 9 ST @ w9 Sl
Codes:/&2 :
(a) Both (A) and (R) are true and (R) is correct
explanation of (A)/ (A) 3R R) A e
3R (R), (A) F T AT FIAT 2
(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)
(A) 3R (R) a4 97 €, fFq (R), (A) F &
AT FE HA B |
(c) (A)istrue, but (R) is false
(A) T 2, f5 (R) o 7
(d) (A) is false, but (R) is true
(A) e @, fibeg (R) 579 8
Ans. (d): TRRefr & it o & T T9 & TR
2 S e @ ifes wes & sidumy § fafdd g 2
TRRyT & % fofey s oy § uh g W i E
T weg farst ¥ ame wwfed o @@ 21 e
Sl e @ fohe] FRT W B
101. In which of the following years, the

Environment (Protection) Act passed by the
Government of India?

frafafga # @ forg o6 & 9RA @& g0
geterer (uferer ) rfrfaem urfta feram wa?
(a) 1982 (b) 1986
(c) 1990 (d) 1992
Ans. (b) : IRT THR N qAfaRor Geeqor sifufaem ad
1986 # 9iid far wem 39 sifufem & dgd yafawor
YEEUT F Uk, fEEAU iR SwemA us uyeand,
FRIHH w1 Ao o T 31 e ® % oad e
siffaam, ad 1980, g Sig wwemor fufaw, 1972 @@
e feferear sifafem, 2002 & gurE 21
102.

'World Ozone Day' is celebrated on

“fergar 3wl feae’ w=TaT TaT §

(a) 25" December/25 famwR i

(b) 21% April/21 e &

(¢) 16™ September/16 famR =

(d) 30" January/30 SaE B

Ans. (c) : fova 9 fegq wfged 16 fadaR & wmE
S 21 o 2021 § AOE T SN g & dim-
“gifegaet TMelHd-gd, gAR e 3R JH F1 3vST WG
217 argAved # SIS WA UF G Had B W@ 2, SN
T ¥ fer Tl aifers T ol ¥ gedt &
@ B 2119 REwR, 1994 F TIH TF TeEH 7 16
faer & aie & AR e Raq % ®9 F T\
&1 el fHar qur a¥ 1995 # ygen favd e fRew
AT T4

103. Which of the following is indicator of air
pollution?

frefafeaa @ @ - 9R] YT <R
Tk &7

(a) Puffballs/THsicd  (b) Algae/SiaTel

(¢) Lichen/aTgeh (d) Moss/ATg
Ans. (¢): @3 aTg TGHUT & Hehdh o &F H 1 Bl
21 W W= g 1 AEIEal B 21 SIS gafe
WM W I T g4 O 2| Seokadd ® % e
SAIBES FhN H FTefd & St e (Fungi) d1 St
(Aglgae) 21 ¥ WA o1 81 Fa% 9 Varad & He7
T YR & Y& F FEsidl G99 (Mutualism) F8d €|
104. The symbol 'ECOMARC' is related to which of

the following?

TR (ECOMARC) Wdter frfafaa o &

feraw wrarf-era 82

(a) Goods of best quality

Hafed T Y 9§
(b) Safe goods for environment
TfeReT % forw gefera wmeh |

(c) Exported goods/ﬁ'&lfﬁ?fﬂm'iﬂ T

(d) Imported goods/3TTfed |l o
Ans. (b) : 3HMEH F A0 P A 3 Lred
g e S @1 FE FHIOT OF 39 3 bl YSH fhar
S & S wateef g @ g | aun e sy
W HE RS TG T TSA &1 1991 § 9RT TWHR
JTHIH STEHA T o [0 TR0 SFFa 3caral 1
A TedH & foTT Eohi-aafer #t st it 2|
105. Flyash pollution is caused by

I Ere @

(a) Oil refining/de e g

(b) Fertilizer industry/3a< 3T G

(¢) Thermal power plant/aid fogd H4= g

(d) Mining/@ ¥
Ans.(c):mmﬁww@ﬁmmﬁwg
s fafersr, AR Hfewram & affFEEe #H
wgfE AqET B § 1 e, SR, shifem qgn g o
T off T 7§ U 9§ e vt ok @
® TR TA BT 81 36 HROT TR A9 fored we ud
AR ShEAl B AMEE aRad ¥ R A F A
FA 8 91 39 W i B9 & e FeremwiE st
ﬁg@mérﬁ%mﬂﬁmﬁmaﬁ%ﬂmﬁmw
W@ el

I Ye9T WHT=I-FH
(Uttar Pradesh General Knowledge)

106. The functions of the State Public service
commission of Uttar Pradesh can be extended
b
e;r{ QYT & ST ileh 9aT TN o hial ohl
foream < geRar 21
(a) Prime Minister/Se=HA 51
(b) Union Minister of Personnel, Public

Grievances and Pensions/&sd Eh"lﬁTm", GIED
INEARGIGEI R ME R PR
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(c) The President/Tgafd grI
(d) Uttar Pradesh State Legislature
SR ISV fqum @vsd g1
Ans. (d): AT SfEEM & TR -321 5N Y&d VAl
F 3 TST ol Far M & HE hl [GER TS
foemUse g fohar ST Eehar 81 37 T fahed (d)
TE I/ I

107. Which among the following districts of Uttar
Pradesh is smallest in terms of area?

ST WP ar fAfafea @ @ wiE-ar fer
ST hl ¥ | TeH BIET 87
(a) Hamirpur/8HRGX  (b) Hardoi/gErE
(c) Hathras/g1e¢d (d) Hapur/3qs
Ans. (d) : 8% F 3T T SW TY H FEF BT fFen
TS (660 FFH’) 8, T9F a1k FAW: & # 3T I
AR B (7680 ) T w1 fen g1 adae §
IW W # 75 e, 350 T@Hcd, 18 A UH 106774
T e gl
108. Ministry of Culture, Government of India as
part of Azadi ka Amrit Mahotsav celebrated
the birth anniversary of Saheed Ram Prasad
Bismil inJune, 2021 at which one of the
following placed in Uttar Pradesh?
O R o GEhd W™ 3 3TTE &1
A HEIHd o Ueh 307 o &Y W W, 2021 ¥
e W yare fafmer @it wEdt S weer |
frafeafaa o @ form T o wawEft?
(a) Chauri Chaura/=t{ =T
(b) Shahjahanpur/STESEIIR
(c) Rampur/TAYX
(d) Ballia/aferan
Ans. (b) : T TSR & HEHfd FAT o TG BT 19
TG % UH T F ®TH 11 T4, 2021 H IR 1
e fafme &t SEd ST SRy F WeSRiR § T 15
T 2022 F AW & 75 98 [ 3 F ITAT |
S &1 7Y Helcdd’ A ST @I 21 ST I 15
ST 2022 ¥ 75 TwE q@ Fefq 12 A, 2021 & gaT
T TG 15 ST 2023 NI THh 3T fafaw
YR o HRIHAT F1 TS Fequl Q97 § fopam Sem)
109.

The Saras Ajeevika Mela-2021' was organised
in which of the following city?
‘TE oTSfifaeRt  Wem-2021" @ NS

frrafeafaa o @ form vree o femam e en?

(a) Patna/9e-1 (b) Raipur/TIqT

(¢) Lucknow/a@=%  (d) Noida/ATTeT
Ans. (d) : TF ST HeAT-2021 &1 TS TS IR
T 26 ®Ed ¥ 14 WH, 2021 & &9 9RG TWHR & AH0T
T darerg g0 fhar T an1 39 9 ¥ 27 T § 300
¥ s @ TeEd 9YE SR gweead 3 wn fomn an
T 3e¥d AT AR & W Wl Wl & Uh "4
& T8 M dih o O IS H JIA B Geh, T
IAE H 9T T IR A TR F Y IS T |

110. Which of the following schemes in Uttar

Pradesh were introduced in Budget of 2021-22?
I. Atmanirbhar Krishak Samanvit Vikash Yojna
II. Mukhya Mantri Saksham Suposhan Yojna
III. Mukhya Mantri Pravasi Shramik Udhyamita
Vikas Yojna
Yuva Udhyamita Vikash Abhiyan
Select the correct answer from the codes given
below.
Codes:
frafafas @ & ®A-H oA SO geer |
TS 2021-22 | I aht TS 7
I. STrerfrelR ek wafead faenma aer=n
Il GEAwst Terd Gursur Jrs=n
111, gt yandt gt Sefiar faenm T
IV. gar Sefwar fasrm s
o fou & Fe 9 T ST @ wE S
e :
(a) 1, T and 111/ 1, 11 TS III
(b) I III and IV/ IL, 111 & TV
(¢) LIland IV/ I, 1 TH IV
(d) L III and IV/ I, Il T8 TV

Ans. (a) : ST Y31 TWHR = a9 2022 7 fFAE H 3A
A A & fau forfi af 2021-22 & a9 # AT
FuF THT fIEE AT IR #1139 A & forw
100 Fg T9 wEafeq fhw T &1 202122 wo § &
T T vl AT YRE fRAr T 8, g9 e
A FE W WS 6 T § 5 WA aF d g
% oo U AT T 11 § 14 99 P el I At
TfABIsT, P TE T & WI-TY T GE e T&H
o ST @AM & T R T 100 WS S
freifRa fobw &1 gt yard gt softr faee s
1 R off a9 202122 § & W@ TN TH AT H
Y 39 @d § fovan w6 i SRA & W § oS
Yardl Ao o U5F R Tedl @ Ay die ® 9
3% TR 1 WUSTR 3T AT ST Th | 39 foIg
T § 100 FUES &. I T HI 5 | o A1 fowmd
A 3R 2020-21 & a1 § T 77 7|

111. Which of the following Ramsar site is NOT
situated in Uttar Pradesh?

frrefafaa # @ SIF-91 T0ET e 39 Jeur o
feera =i 87
(a) Sur Sarovar/X TR
(b) Samaspur Bird Sanctuary
HAEGR GEll SR
(c) Sansi Nawar Jheel/FlTFl—&F e 3
(d) Surinsar-Mansar Lakes/w-w et

Iv.
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Ans.(d):gﬁw—waﬁﬁwmﬁ RIS
NG & 9 F HYER o9 & 9 el | 21 gitw-
WA, & A Sfel S sﬂﬁ ‘iﬂ & S 2
Safd P OFUE  (IM-2020), THAR G STwEROT
(TR, 2019), TEE e 3t (3276, 2019) W IS
¥ Ry € o1 3% T T off Y A ST g 7
112. which of the following is NOT the eligibility
criterion before filling registration application
forms for Uttar Pradesh Mukhya Mantri
Swarojgar Yojna 2021?

I Y91 GEAwE TRISATR AT 2021 % faw
TSfieRtuT/3Taes Us Wi ¥ U fefeaiad o 9
THIF-T UTAAT ST HHEUS T 82
(a) Age group from 18-40 years

g i 18-40 N
(b) Minimum high school pass certificate

AT S Thel U SHTOTH
(c) Should not registered in any Central

Government or State Government Swarojgar
Y ojna/ferdt THER a1 T TSR

ISR AT # Gofigpa @l &l = ey
(d) Citizen from any State of India
IRd & feft oft 7= & Amftss

Ans. (d) : ‘I ISV TEIHT TSR AT 20217 ¥
& ol Ja1 USRI & WS & 76 3T i
¥ IE B T 21 I A F o # eng 18-40 A &
T q A Vi A aed FuiRa @ T 81 W
& e B Rl FET TR O T TWER & EUSR
I H Gofipd T8 g RT3 AT b ded el @
= e afsge @ stemerar § wied, e &1 <@ wffq
SN TR & Areaq § fhar S 2
113. With reference to the 'Uttar Pradesh
Population control, Stabilisation and Welfare'

Bill, 2021 which of the following(s) is/are
correct?

1. This bill aims to bring the birth rate down to
2.1 per thousand population by 2026.

2. At present, the fertility rate in the State is 2.7
per thousand.
Select the correct answer using the codes given
below.

weamr’ fagTeR, 2021 % Hv—q'ﬁ‘ U sE-A1/°
FHaA v 2/87
1. 30 fH99eh AT 39T 2026 Tk I T Tl 2.1
gfer TR SEEAT ek A &HIT B
2. gau H TS W YA €X 2.7 Uiel §9R B
o for ™ Fe ¥ wE IR @ i
%< :
(a) Only 1/%ad 1
(b) Only 2/ 2
(¢) Both 1 and 2/1 3 2 &t
(d) Neither 1 nor 2/F @ 1 T & 2

Ans. (¢): ST &3 g (feEo, el 9 Heamr)
faeress 2021 1 ST T fafer e g d9w fhar
21 W WY WHER T 11 J@E, 2021 H 9 SEE
Aift 2021-30 % fAU =won 1 W IS F R FA
ATHIMW. 2.7 § TSTH 2026 T 2.1 71 2030 T 1.9
T BT &1 3Ad: A e e 2
114. 'Uttar Pradesh Swami Vivekanand Etihasik
Paryatan Yatra Yojna 2021' was introduced by

the U.P. Government for which of the following
people for religious travel?

‘ST YU @t fadeH< Ufaetae wded

IET ASET 20217 W ST YT WK gRT

erfifer I & fau o & @ fopm sfrat &

forT 3y et et 82

(a) Elderly/gst & faw

(b) Women/Afgensii & ferw

(¢) Widows/faeramsii & fag

(d) Labourers/Asigli & faw
Ans. (d) : 3T TSI TWHR 7 TG & fod IW I
@ feem= Ufefas wed am W @ 21 3™
ST % TEq S SHGIR 3TaEH YhaT & T T 37
TWHR & TWh F 12000 T3 &iffiss T & a1 W
F fIT yem a0 SMUH| 39 AT B A dTHT 1.5
Hs ARt G0 AW dr T AN 59 AT & ATy
¥ TREQ AfR, AR T (W), AR i
e, el @ df, ferafad @ dfw, s,
YU, TG 3T Giftieh TEl W ST b |
115.

In which one of the following cities country's
first Indian Institute of Skills was established?

frrafefaa vedl o @ form we o 29T @1 wow
A ShIFTA He wmfue ferar war?

(a) Ahmedabad/3TgHaTE

(b) Mumbai/T=%

(©) Rohtak/2gds%

(d) Kanpur/s-9X

Ans. (d) : 19 R, 2016 & SR s @ @
FAR (3F.) H I H A A BRI GAE A
TR TE T | 39 T P T BT fah 3R
it e wd MR F e ofw fFea
Ty & AR ¥ S T TEh g AW H ded

SRTI0T T SerEr e fRar S

116. Which among the following organisation
released the world Population Report, 2021?

frfafaas § @ fora W6 g1 o8 Uige
e, 2021 S feram T 32
(a) International Monetary fund/m@?’l qs1 H
(b) United Nations Population fund

TgH TP TG B

UPPCS (Pre) G.S., 2021 I* Paper

25

YCT



(c) World Health Organisation/fa9 @reea g4
(d) United Nations Development Programme
T TP fow wreimd
Ans. (b) : HIH ¥ U H FN TCE UYSYH
A, 2021 s & T 2
TIH TP G HY, G4 TP T H Th T@ESH
M R S TEEH A qA YA e T % ®9
Tfuq fRam T A7) S9e 9RETed A 1969 H R
T3 39 a9 1987 H SMERe TR | T TF e
A faam T
117. Which one of the following is NOT correctly

matched?
frafafaa § & -1 ot gafaa = &2
(Name of Player) (Medal Won in
Tokyo Olympic
2020)
(Raeret ar amm) (ST Meftueh
2020 ¥ fafse
Uceh)
(a) P.V. Sindhu - Bronze Medal
/4130 fiyg - HS IS
(b) Bajranj Punia - Silver Medal
/AT g - I 9es
(c) Mirabai Chanu - Silver Medal
/AR = - T e
(d) Neeraj Chopra - Gold Medal
/AR et - i g
Ans. (b) : Y3 Raenfeal & 9@ 31 o fafas
2020 # fafer e T gAferd 28—
Raerdt st Sy efeiftoes 2020 O fafsa ugew
gt iy - HE IS
LREICICE - I UEH
Hit Araer - ol uas
ST gfT | S SEftyes 2020 H W Sk TG i
o7 Sfcsh HIE gaeh S |

118. Who among the following Director won the
oscar Award For the best motion picture in
2021 for the movie "Nomadland"?

2021 ¥ 3R AT X € S WY fUeer

W YESRR Stad areft fRew ‘Ameivg’ @

Prdem fraferfaa § @ frae farar am?

(a) Chloe Zhao/w Sﬂ?:ﬁ

(b) Emerald Fennel/TH{cS BT

(c) Less Issac Chung/eil 391% 7

(d) Thomas Vinterberg/aad faetant
Ans. (a) : 2021 ¥ R FGE BR g 9L AH R
F SR S aelt feew CAeevs’! @ fdem
T TS A fEAr an) TRe # Uhedl e WM
fieer oEH e WEES W Yed R, O st

PR FeT S 2, e =agm ¥ 92 wdde fdvm,
FAGRI, AGH T THATA H TGE fHAT S aren
e aftfes qEhR &1 9T Ygel TR 16 T, 1929
. 31 Sfer feram T e

119. Among the following countries India's trade
balance surplus is maximum with which
country in 2019-20?

2019-20 ¥ f=ferfiae aon o & fored WRa T

STAT I ATRISFT Fellfereh &7 87

(a) USA/A.TH.T,

(b) China/==

(c) Japan/STdH

(d) United Arab Emirates/ﬁ'ﬂ?ﬁ TS ST
Ans. (a) : foriT ad 201920 § ¥3% Ts7 sl §
I 1 IR AT A Falfers @81 s gden
2020-21 % FTER, ¥ 2019-20 TG I H 97T §
3T e frafd (sTRE ffee SR §) frfafad @

Lt ONE & | 9N & | AUR 9
s | i (Frata
S 110
JUHT, 35.82 53.11 +17.29
&= 65.26 16.61 —48.65
M= 12.44 4.52 ~7.92
T ame | 30.27 28.85 “1.42
R

3 sihel ¥ W8 o T g 5 R av 2019-20
T g 88.93 fafeew smfisl iR & =R & @
TR 1 T TST AR ARfER 397 oFf 71

120. According to 'Global Peace Index, 2021', which

of the following is the most peaceful region in
the world?

‘afger  wrifa  gEeRis, 2021 & IER
freafafea & @ fag &1 wew wnfqget &=
HIFA-|T 2

(a) Africa/3TshiehT

(b) Europe/?{aq

(¢) Australia/seferar

(d) South America/afRoT AR

Ans. (b) : ‘3f4e Tifa U, 2021 F IR, T fag
F FIG Tl &7 21 e AeA-gd ud IO emhi
ferar =1 gaifer arwnid & B

39 U & SO, smeEee fay w1 waifus v 39
21 59 gy o wifewa 2w § =sidve gW, S
dret, gdmer W9 g et gee wE ) R e
gaHi § 9RA FI 13597 WM TG g | IeowHA ¢
AR 1637 % % WY 3y &1 gaifus snd qw
21 A iy gusw # S BRghHAS g

G Ry R R ST 21
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121. Which one of the following books written by

Noble Laureate Amartya Sen and published in
July, 2021?
Maer TR fasar smed 4= gwr fafaa
frafafed ¥ ¥ &iH-91 e JamE, 2021 |
YeRTroTa g3 eft?
(a) Development and Freedom
SIATHS TS HieH
(b) The Argumentative Indian
T afiefeT sfreem
(¢) Home in the world/8M & T 9¢8
(d) The Idea of Justice/a 3TEfeaT 1% ey
Ans. (¢) : T9A AR S s 99 5 fafed g
‘W T T Ao’ AR, 2021 § ¥ERW g i 39
OO § TR o1 Sfad T8 TR (Home)' & @Rl &1
FI0T BT 21 WY & A Seog fRam fF S AW
‘sl T 1Y SR q faan on AR 9t svefemet
A T F a6 1998 FH FAE F A [HR A
fFam T o1 T I W@ el d 3 eHefed
e wd T eEfean e SRew wiftd 7|

122. According to the union Budget 2021-22, finance
minster proposed a new levy Agriculture
Infrastructure and development Cess. This cess
will be leived on how many products?

wefiT s 2021-22 % AR faw Wit T &y
gen wd faeem AW F AW W TR A W
Y& feRam 1 I8 & fehd= SATal X ormen
SrRATT?
(a) 12 (b) 20
(c) 25 (d) 29
Ans. (d): 959 a9 2021-22 ¥ fom W 9 Ff @@ w
forg §9 % 99 9 UH A9 H GEET b 7, S o
29 IRl W AT A

123. With reference to 'NET - ZERO' goal for 2050,
which of the following statements is/are
correct?

1. It means that a country will bring down its
emissions to zero by 2050.

2. it means that a country's emissions will be
compensated by absorption and removal of
green house gases from the atmosphere.

Select the correct answer using the codes given
below.

Codes:
2050 & fom ‘Fe-Sil’ wewr o W o
frrafafaa & @ wF-91/@ woT 9E §/27

1. 3Oa AU § R <91 & 2050 TR TR
IS R I ek el ST BN

2. gEeR fuurar & for forelt Qo & SeESA WY
erfergfd aTTeRuT | WA W F\i w1 TR
qAT IraviEor § Ef

o fou 7@ e @ 9 ST @ w9 Sl

e :

(a) Only 1/3aa 1

(b) Only 2 /Hdaa 2

(¢) Both 1 and 2/1 3R 2 &t

(d) Neither 1 nor 21T 2
Ans. (b) : 3T & § T Fol TSH g I SesH
?q A< SR A& 2050 (Net Zero by 2050) T8 & 37T
Uiy sl frar 81 9% fa 1 geen s Sl Uiy @
& FdaR 2021 # Se@g URaEdd W AT F -
T TR g AT g U % ke 31 o,
HY-26 FHAT H ATET ST 2050 & forw G2 il
¥ e 2 f5 ot 3w % Sei 3 exfergfid SR @
A gy 6 1 FeRtor q9n sEsie ¥ gnft
124.

'India climate change knowledge portal' was
launched in which of the following months of
2020?

‘gfirgan weTgie oW AT Uee T YIERe

2020 o Tr=fafaa & & fore v o feran o

or?

(a) November, 2020/7a%R, 2020 &

(b) December, 2020/f&8m=R, 2020 &

(c) September, 2020 /R, 2020 ¥

(d) October, 2020/3T@aR, 2020
Ans. (a) : SUSAT FARHS = Afels T H YA 27
FaaR, 2020 N H=1T TGO T TR o1 59w
F1 32V Ferary uRada & qei 9 fed % faw ufe wd
T I T W 32T I A qff vE wEE &
TR ATRE & " F9 % T6R H Heg S 2
125.

In February 2021, Ngozi Okonjo Iweala was
appointed as the first woman Director general
of World Trade Organisation. She belongs to
which of the following countries.

TEdt 2021 ® S TSt gaem ol faw

IR WS ¥ JIT Wi We-evieh & ®9 o

frgh ferem e %1 T wieen frafafea & @

form g @ 87

(a) Nigeria/T&SIRaT

(b) South Africa/Ife0T 3T

(c) Kenya/éﬁﬂ

(d) Ethiopia/gifo=n
Ans. (a) : B0, 2021 H ESUREAT & AWST il
39l il {9 =AMUR e § J9W A Teess & ®9
§ g e T 39 Ue W e ATl a8 oW eThie
e &1 frg AR SeA # T 1 Sl 1995 # g8
ff| o TEAe SHar (feesreve) # feom g1 adam
¥ 3o WeS T & @A 164 Bl
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126. As per SDG India Index and Dashboard 2020-
21 published by the NITI Aayog, which one the
following States was NOT among the top five
States in their performance regarding SDGs in
the country?

fifer s grr yemtyTe waEtsh. gfean e

g TITEE 2020-21 % AFAR Fr=ferfaa & &

HH-91 T TS, gafea e geyia o

91 & i uter vt o witafea @ on?

(a) Gujarat/TsId

(b) Andhra Pradesh/3T¥1 EEN]

(©) Goa/TMaT

(d) Tamil Nadu/ﬁ&l?l’rﬂg
Ans. (a): 5, 2021 ¥ if emam g ww.dsh, sfrea
ST WIS SYEIS 2020-21 & R G&ROT H ST fwan
TN 39 gEEE § d (W, 75) ¥ T W s
21 39 gEdis § dfferrs, 31y S3e Ud er 3o yewi
¥ 3w & o o Tt # wnfeet €, et e wi o
et # @ 21 adae # Hifq s % suremer €f. weig
FR &
127. With reference to the G-7 Summit held in June

2021, which of the following statements is/are
correct?

1. United Kingdom was the chair of the summit.
2. Brazil was invited to the Summit as guest
country.
Select the correct answer using the codes given
below.
Codes:
S 2021 ® AN G-7 Rrew wwe &
v ¥ fafafas & ¥ #F-1/F T 98
/8
1. IATEEE fehiTew 30 TTaR Tt A1 37eaTeT am
2. STSfter st Sfafyr QT % w0 H Brew wwew §
A feRam =T om
et g Y e @ wh T g
e :
(a) Only 1/&ad 1
(b) Only 2 /&da 2
(c) Both 1 and 2/1 3R 2 3t
(d) Neither 1 nor 2/F @ 1 T & 2
Ans. (a) : S 2021 H 473 Sf-7 N R g@eH
gaee fhen § wfdw F (Far) F ogeml gHe
TERIAT ARG T (BT & yumweT) 3 & adae §
AT fhrew, 99w Tea-amia| 474 Rrer gwes #
g, e ferar i gfor wifter afafy 2w &1 & 2021
T THH I FAA TRE TR EEen i §
wag & o fag & omol Aieddl # ThYE T IR
s Tgg s &1 fmfor & @1 sge e |
1975 & &1 ¢ of | I5 TH HR-TEHH TA 2|

128. Uttar Pradesh Government declared in budget
2021-22 to provide tablet for student under
which of the following Yojna?

ST WY We 2021-22 ¥ fRE AT %
=i feremfit =t dereie 3 & HwuT @t TS
®?
(a) Chief Minister Abhyudaya Yojna
T ST A
(b) Chief Minister Rozgar Yojna
A ISR ST
(c) Chief Minister Balseva Yojna
A et A
(d) Chief Minister Education Yojna
e R A

Ans. (a) : 22 BEH 2021 F FW I TWER g T8l
fefiea ate w1 foram a1 ST aSe & s fog W
wd gaERh fgem sw fafte @it & ‘wemEe g
TYHIHT 2|

Foe ¥ fafte vt & o oms e S S &
T, fored frafidl % R “qendh st A &
T i T § fed sl qdensit # dad s A

BT H -3 FIFET AR Sace o sm

129. What is the theme of World Youth Skills Day,
2021?
forvar gam wivrer fea@, 2021 &1 (Theme) =T
7
(a) Young People and Skills/37T 4iaeT Tog fisheq
(b) Skills Development and Employment
fihew Saaqiic we TEATgHe
(¢) Young people and Entreprencurship
1 v que TR
(d) Reimagining Youth Skills post Pandemic
Ieifsf g7 febew e T=2fis
Ans. (d) : {57 ga1 rvra fag 2021 6w Geafatm
7y foew o $=fiw i 9q% Tg weme 718
feat 2014 1 sfaad 15 S F &g a1 Hea o=
T 1 haer fRar) garst § e iR Safar & age
% fore wftrand e Srerer g wamEn S 2 |
130. At the time of second wave of COVID-19
Pandemic, which institute had demonstrated

the conversion of nitrogen generator into
oxygen generator?

HIfS-19 AR i O ol & 90T fha
HEH F AEEN el sl SATade SHve
T SIge T YeIi feRarm em?

(a) 1ISc, Bengaluru /9RATT faR §¥M, sTee
(b) 1IT, Bombay/3T8.3TE.31., aweg

(¢) IIT, Madras/3T%.378.8., 519

(d) TIT, Kanpur/3Ts.3T5.21., HHIX
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Ans. (b) : Ffae-19 WM F TH TR F T
Eofifed 9 o AEeion SReX i S S Ret |
A F HHAAES TeA [Tl T 3.5 TTH @@
W 93% F 96% IE A SMR{SH H 3Icqred fwRar S
bl | a9 otfofiom & ®9 F g A ST wHm
Y STl # HiE Hifgs e Sed 3R S
Fifere Fi fafery giaensit & suam & amn 1 gebar 1

131.

The winner of the women's single title at the
French Open Tennis Tournament, 2021,
Barbora Krejcikova is from which of the
following countries?

e 3ftum 2fa 2atde, 2021 o Afgen Tewhet
faaer = fa9ar, eR&  shorfdenar
frafeafaa o @ fora Qo 9 82
(a) Czech Republic/%raﬁ RIEICER)
(b) Serbia/afsam
(¢) Croatia/shraf3rar
(d) Spain/TH
Ans. (a): S, 2021 § %= oq 2fw A, 2021
oftm, wig § Tud g it % oo 39 TR @-
T8 ARl THa H Rade SRERT sheidehter (%
TRT) A SR aegahEl (§6) & WS Hth
S|
TN Tehel- foreran- Aame sihifas (Sffarn)
Suferstar- =Y fafga ()
132. PM WANI yojna is related with
e STt ST SR W §-
(a) Censorship in Print and Digital Media
fre o fefsea Hfear & G=mfym 9
(b) Development of Lok Sangeet
e HiftT & e @
(c) Audio-Visual Release of Lok Sabha
AT o YI-9T TERUT §
(d) Availability of Wi-fi in Public places
T Tl W aE-HE i ST 9
Ans. (d) : TR aOf A (e et aE-wE
TR dedsh $eUhy) & 3T HEsiae @HEl W ark-
B G U BT 21 T AT NHEEA T
A EW A AN SEe ST AR-BTE S gfaen qw
gt 39 AN & FrEfEEa & far @ Iw # geete
SRT %5 @I ST 398 PDO, PDOAS TU Jemrs 3T
TS hs W giea fafe faumes wnfie g “diem
amfl’ & g e @ T fufre & &9 § 9ifua fea
ST Hehell B

133. The Nobel Peace Prize, 2020 was awarded to
which of the following organisations?

e vt GERR, 2020 Trefefaa § @ fwa
AT R Yo feRa T §72

(a) World Food Programme/f% @mI FriH

(b) United Nations Development Programme
T TP fow wreimd

(c) World Health Organisation/f&% @& |13

(d) World Bank/fe% sish

Ans. (a) : T9d SR fava # difgs suary & faw
feam ST 3T ¥fTE R 81 98 Wifew JUTf ks
T T RU T e § e &M fRA S 21 9
seforeE we wifd &% 89 § we frar St 21 A 2020
fava @ sEEHR (WFP) &1 ifd &1 Aed frer &
2021 # wifd & Aol fhefldid & TR Tilkar @ qen
Y & I AT B AfeAE P WA S @ B

% 3% TG & fw ved fhar T

134. 'The clock is Ticking' is the theme of which of
the following days?
‘T TR 3 fefehm’ frmferfaa o 9 form T
=i oftm &2
(a) International Yoga Day, 2021
U AN fEmd, 2021
(b) International Women's Day, 2021
AT Afgen faad, 2021
(c) World Tuberculosis Day, 2021
ferger delt feaw, 2021
(d) World Malaria Day, 2021
forea waftan faaw, 2021

Ans. (¢): fava 4. feag wfoad 24 A€ & Fam@0 ST
21 24 9 1982 W AEHEESE Tad HiE 4 .
) AR TR T & G A
39 W9 % U 5% Aee R o getE foher e
Af. T AR F BES F e w21 a9 2021 H
A, few @ A T Fels o= RRET 81 sl A
feag gftred 21 S T =@ ST 81 THA A T &
fore A 21 8 W i ufees saddi Ao gy wawEn
ST 2 e gy gt feaw 25 e I HAE S R

2021 # zHa Gm S waRar @ foe @ 21

135. Foreign Minister of a country, Anthony
Blinken had visited two days to India for
strengthening co-operation on July 27 and 28
in 2021. He belongs to which of the following
countries?

27 UE 28 TS, 2021 T Teh 97 o fareer wsft
QAT fSeT=ahe 3 9RA o |1 WEANT it ASTed
wH o fIT 9O & 3 fead amn =t ot 98
frrafafaa ¥ 9 fe o 9 wwatad 77

(a) United Kingdom/JA1gee fehmen

(b) United States of America/HI® T 3THRH

(c) France/rd
(d) Australia/3fefern
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Ans. (b): 27 TE 28 [ 2021 I HIh TsT STHRH &
fogelt H deft foohd T WRA F WY Tedn B A
FH & fou & feada am ot o 39 R IE v 3
FT AT TR § fues o svemiaeaE @ fie-
T &1 S faf |fed wE g2 o ==

136. Who among the following has been appointed
as first Women Treasury Secretary in United

States of America?
frafafaa § @ frawr @9 T Mt ®
qom Wik ISt Wohedt % wU A g fRan
e 2
(a) Lyoyd Austin/aFe 3ifed
(b) Janet Yellen/siHe et
(c) Merrick Gardand/AR& e~
(d) Tullipan/SIfeTq
Ans. (b) : SFad, 2021 # g% TsT SR g SHe
Jo (Janet Yellen) @1 MR &t woq Afgem I
Tohelt & &9 ¥ fages foram

137. Which of the following newspapers won the
'Pulitzer Prize, 2021' in the prestigious public
service category?

U ¥ | fRaa gfafya o

ar guft 7 ‘giete wERr, 2021 Sfiar §2

(a) The wall Street Journal/g afdl e SHa

(b) The New York Times /< 25413% FARLS

(¢) The Washington Post/ AT g

(d) New York Post/?{Eﬁ% Bl
Ans. (b) : ¥ 2021 F JfeToR JWHR A% Hal (Public)
goft § ‘T =k TR & e fRar w aRdE g &
AT THER HET TSTe i ‘TevEa RafdT g ad
2021 # YfefeR qUhR & eifaa feram e

138. Which Indian Naval Ship participated in
Exercise Cutlass Express, 2021?

HEATH TEFAUH, 2021 19 T ARAT AT
& T wIg = 9T feram en?

(a) INS Vikrant/3T%.T4.79. fasia

(b) INS Magar/3TE.TH.T9. TR

(c) INS Talwar/37E. T4, T4, TeTaR

(d) INS Vikramaditya/3Ts.UA.09. fasmmfee

Ans. (c) : FEUTT UK AN ‘T THHH, 2021

(a) Madhya Pradesh/5&d EEN|

(b) Rajasthan/TSTEITH

(c) Gujarat/TSHId

(d) Himachal Pradesh/feam=ret EEN]
Ans. (b) : ‘W= 3% G ToE F weh e §
s7afted g1 S oTerd ot faee seay giver St meRw
(1870-1954) & 1519 T&dl & W W TIEET X
O ER THE agetelt WV A W A} 15139
(12.6 ftoe) &1 € 8 swerg @ ffifa fban e 21 g
Tefifire HET H dfaT S S R T 2| SR e &
T T qr @It er=ied # AneE feEr e
TR # R 3% I URA & TN IUNHEEA q°n
TeHdl TER Toav 9 9o $ TAfid UH WNE 2
THHT SR 31 TSR 2018 H fFam AT a1l THAY
e 182 Y. 21 g9 bR T &Y. AR §|

140. Who originally propounded the theory of three
stages of social development?

AR ToeRma &t 9 Srawerstt &t fagra

et feraa wfeariea femam an?

(a) Karl Marx/3Te AR

(b) Talcott Parsons/Tashic ard~g

(c) Herbert Spencer/ﬁacé S Cary

(d) Auguste Comte/3T & HS
Ans. (d) : 9o e &t dF eERaret &1 s
qad: A Hie W gfauifed fopean mar a1 g7 @
el § e A wredie, dedHmiEE A s
AT ST AT ATk, 1 YMTHel fhar ST 81 i &
3R, HHa Sied & Yid AR STERdl &k WY TH
fafers R w1 giE @ed iR TeRifas W E 9T
2T 21 THITET R W, TRE, $eA I S A
T AeRfEs MUR W, Sefeh dadwdd & ®, T
YT Y A q91 A H AIG ST ARBAT Bl AT ST
2| THRIHS AT A R W, SEis & fEE W@
STEIA, A, TAN () T T o TR |
feper ST 21

141. Which of the following is NOT correctly
matched?

frfafad ¥ @ ®E-91 9 98 gafed T@t
®?

F ARG 26 AR T 6 T 2021 F LA b1 # (Institute) (Location)
fFe T ARE AT # S UA. U, AR e 39 () (rafeafe)
g § A g I AT o § 9y A (a) International Centre - Nairobi
S femere i safteR @ fadee fopar e for Research on
agro-forestry
s
139. 'Statue of Peace' is situated in which State in SIHEr R
India? (b) Indian Institute of - Bhopal
‘R ofw i’ una & fohm T o srafiea Forest Management
2 IRATT T HEH ofrarer
UPPCS (Pre) G.S., 2021 I* Paper 30 YCT



(c) Central Agro-Forestry - Banda
Research Institute
THY HEAH

(d) Tata Energy Research - New Delhi
Institute
TRT Sl IEYE HeM % foeett

Ans. () : 51T IF-AH SHUE HIH, TG (3.9.) |

fRor 21 gl ToroeT A 1988 ¥ S M off o fwew o

TE gAfer 7 81 o1 Tt fashen Td Al )

142. Which one of the following is NOT an element
of rural community?

frafafaa § @ -1 THor TEEE @@ A

& 77

(a) We-feeling/gq I A1aT1

(b) Cultural diversity/di&hfde fefererr

(c) Territory/&

(d) Self-sufficiency/3TreAfear
Ans. (b) : T fafasra amfvr gqeE & a7 2
g fafEem Tl e & uEr S 1 Ao
YUEE b el §- @9 @ Wi, e, STeAteiR, S
T, SHGEAT T HA -, FHISIh FHSId, Tl o
raT Sfe 3 |

143. Who among the following had performed the
word's first heart transplant?

fag =1 Ugem T yEmmur fem o 9 feRaw

Terarm am?

(a) Dr. Venugopal/Sf. JUpIaret

(b) William Harvey/faferm e

(c) Christian Bernard/fshf&a TATE

(d) William Betrick/faferam sifees
Ans. (¢) : 9 & T8 ThA GG ged TN SR
3TN & Hoid e sl & g 3 fawwRr, 1967 ¥
TRIUT STHIHT & HUSRA A fHAT AT 91 ARG H T8l
gad TR 3 T, 1994 I faceh Rem sifea
AT ST e § §e @, Jupiara & R fRa
T 7| eed § b Tad Ugel Uhdl ged W iuv ay
1958 # omRa T A T R Hfwifdar &
wawE gafddt § s $o 1 fwar T o)
144. Sugamya Bharat Abhiyan is associated with

T R AT TwaTf-erd §

(a) Disabled Person/fEeaiT =afewai &

(b) Child Health Care/dTet T@eg g

(¢c) Women Empowerment/Afge FeIfheniol &

(d) Under Privileged People/afera @i &
Ans. (a) : T 9RG M FEINE =IE SR
AfERar de™ & e guitheor  faam &
T weaqul SfEE g1 Tw e @ yEeTd 3
fagaR, 2015 & fawam =fEd & g feag &
3T W F T oA

AR H IR fahai AR S Stad & gt & §
TR W & T 9 STaeR wd iR Sfed wem
FA 2 G R I g s e,
R, I T GAR GRRERE @ R W
Hfesa 21

145. In which year P.C. Hota Committee on Civil
Services Reforms was constituted?

faferer Fanett & guw ¥g wft. Ser wfufr =

e fore o feram = or?
(a) 2003 (b) 2004
(c) 2005 (d) 2006

Ans. (b) : fafae aeit # gum 2g R @ wffy &
T a¥ 2004 F fRAT T 911 39 WEfa % oTemwm G,
B qdT & I oRfeR am we . v o) 39 WA 9
ot R 12 wE 2010  G@ift1 g WY F sEEr %
e fafae dar wrfves olem § 9o @ oy 21 § 24
a¥ B AR THh o w@ Sreel § fafye gar

Fi 31t 2 3 JEER Wed a9 3] gIE Ao 81

146. Which of the following labour related Acts
have been amalgamated into the 'Code on
Wages, 2019?

I. Minimum Wages Act
II. Paymet of Bonus Act
III. The contract labour Act
IV. Equal Remuneration Act
Select the correct answer using the codes given
below.
Codes:
= # ° ®E-u gW el sttt @
‘Tt Wi, 2019’ | witafea fewam = 82
I —gAa Aeigdl e
II. S A st
M. wfeer g9 stfafem
IV. |u uiRgihes safraw
et foar T2 Fe | WE ST @ TE &t
<< :
(a) Tand II only/aet T 3 11
(b) 11 and 111 only/&ae 11 3 111
(¢) L 11 and IV only/&aa 1, 11 3 IV
(d) I, 11, Il and TV/aae I, 11, III 3R IV

Ans. (c) : fr=fafad sm ga=f sfafeml & aegd

Hfgar 2019° # wfeafer fHar m 8-

(1) wergdl 9o 3Afef=E, 1936

(2) =w weigl sfafaEm, 1948

(3) AH T AT, 1965

(4) g9 TRy stfafem, 1976

et sm srfufaam sad gftafea T2 foham T 2
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147. Which among the following are India's
permanent and operational research stations in
Antarctica?

Trafefaad § & hiA-HT 3ieTehicart § AR &l
Tl 3R SHeR gRT UReNfeTd ST R
¥?
(a) Bharati and Arya/9Rel 3R o7
(b) Bharati and Dakshin Gangotri
AR SR afeqor T
(c) Bharati and Maitri/9Tdt R FH
(d) Dakshin Gangotri and Maitri
T T S A
Ans. (c) : THRH T 9RA H WA A IWH FW
TRefed ST EeE Ry 9Red o 5§
TSft- sferhfear # &f 9T w1 qEU Rl SEYH B
21 gue fmior 1989 # g3 o1 A% vudel werEl &
R fom @ 9 - forwret ol et S 21
ARet- af 2012 ¥ YRA 1 GG FLEIH RIA 2

(a) World Economic Forum/fag snfds o=

(b) World Bank/f&% sish

(c) OECD/3T .81 .4

(d) UNCTAD/3%eTe (4. 0H.41.21.TEt.)
Ans. (a) : 59 i @9 g0 Hifag-19 % vge afds
stferaeen & S 39 T e {9 WO & ue e
T T T 3 fhe fag enfs Wu # uh ved 71 g
sauron fag onffs W@ (W.EF) % TwNs R
FEFR TR FAH A9 50 & T 21 S g aut
# fapfad g 21 Ffae-19 F 9@ § I9A &g T I
I’ OSard e § guR & WY-9Y T Searg
The o1 Ay weam § ol w99 afws TE W
S HiEd S 21 A8 Y Fued ¥ geE iR wedm
o e A 2|

150. Match List-I with List-IT and select the correct
answer using the codes given below the lists.

Tt 1 @ gt 11 @ gRfera wifse qor gfet
o e feu T we

Toe fAmfor IR wiem § wiesdiel, ® G YT & A 1 /List-1 It 1/List-11
& fou febam mam 21 @@ F G e 3000 fd o # (Scheme) (Year of Launch)
feor 31 (ST (T = )
et Tt — 97 IR SR FEET & TS 9 (a) Aam Aadmi 1. 2021

F w9 F i veel WA Aue FHEH a9 By Bima Yojna

Tl adee | g8 "o 8 2 /amawfl’raha‘ram

148. How many districts of Uttar Pradesh has been (b) P.M. Aatmamrb'har . 2. 2016
covered under the Aspirational District Swasthya Bharti Yojna
Programme run by NITI Aayog, up to June, /9., St e
2021? IR AT
Hfifr A g wema W T evewish R (c) Pradhan Mantri 3. 2007
HTHRT o T ST WeIT o feha el =r Jan Aarogya Yojna
S, 2021 T I feRar 7= 772 [ S SR
(a) 4 (b) 6 RIEE]

(c) 8 (d) 10 (d) Pradhan Mantri 4. 2018

Ans. (c) : Hifd AN R I ST W@ Ak e Suraksha Bima Yojna

FIHT (Aspirational District Program) & 3fdild 3w /ST e S

729 & 8 el S, 2021 @ wnfEret fBpar T 2 Sy

SedEdE @ S IR W A T sHed, 2018 # Codes/Fe

AR F S TR H e iRk Tt % fou gEEwh A B C D

fopra gRAfm W & TR & Y9 & ded a9, @1 2 3 4

o foehrE o e e & 3favid st fer (b) 4 3 2 1

FEHT I R o1 39 FdHT &1 323 Use el & ©) 3 1 4 )

foerrd & 21 ST e § wiite S Yew & e @2 4 1 3

TR, TR, WA9E, e, wey, e, Ans. (¢): YT AT R IH1 T a9 e gAfed

T 3R e £ -

149. Which of the following organization has | |g=f-1 -1
launched "li:hel (l})reltat Reset' Il(liitia.tiveihforpthett T e a9
recovery of global economy during the Pos
Covid.19 phase? Y ’ S ST AT AT 2007
frer ¥ & frg §TeT B0 Fifae-19 % g | [H.UA. TR @R 9wa dser 2021
?ﬁ'{ﬁé‘fé;aaa;ma;mn%—g‘gﬁz JMHA S 3T ST 2018
e’ yora st yrew fera an? T e S A 2016
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IR weur ot o, wa. (fifermm) wdtam, 2020

YU YIT-US Rl B (v ffer ¢ 11.10.2020)
(TR favarsuT |igd samem) qutter : 200
qreit=T 3@ (Ancient History) AfeeR TIIET (Vedic Civilization)

ﬁﬁa‘ JARAT (Indus Civilization) 3. Match List-I with List-II and select the correct

1 Which of the followine Indian Archacolosist answer using the codes given below the lists :

. ich of the following Indian Archaeologists geft—1 &t gehi—I1 & Gafer wiaT aer gfEt
first visited 'Bhimbetka Caves' and discovered _5; S e :ﬁ = ;r{r . |
prehistoric significance of its rock paintings? & i
frefofas & & fFe AR g ¥ gt List/&ef-1 List/g=h-11
R * sftaaeeRt T’ R @ 3R 3R It A. Indus Valley 1. Pastoral
& UHITegTieh Hg~a hl W7 Civilization BRI

oy =t g
(a) Madho Swaroop Vatsa/ATHaEYT a8 B Later Vedic Soci > Land
. : . ater Vedic Society . an
(b) H.D. Sankalia/T=.€l. wﬁw ot A Lordism
(c) V.S. Wakankar/d1.Tg. aTeheht SefvaTs
(d) V.N. Mishra/31.T7. s C. Rigvedic Society 3. Agrarian
ST—(c) Frdfess T FH

T2, faw] iR aRve IRG & FE Ay D. Medieval Period 4. Urban

41 3T A & (e e TH & A=A et wE e T

T ST fohaT 3R ST FHIferRTah Tew I @ISt o) Codes/&e :

2. Match List-I with List-II and select the correct A B CD A B C D
answer using the codes given below the lists : (@4 2 3 1 2 1 4 3
eit—I st gei—11 § gafea ity qen giaat ()3 4 1 2 (4 3 1 2
o e fog T Fe | | W gt ST—(d)

List/gei-1 List/gi-11 STl Fafer -
(Harappan Site/  (UT/State of India/ 9% 'Q\iﬁ_l W_H
ETSWT U ) qremasl/ "R & Tsd) oy et g - A
A.  Balwdre] 1. Uttar Pradesh S Afeh wHE - Fw
IR =W Frafess T .
B. Manda/mier 2. Jammu and Kashmir HEF ohlct - i
T FEHR dieg, 319, ATTEd Te 919 99 (Buddhism,
C. RIS 3. gRam . . . . .
Padri/ A Har_yana/ Jainism, Bhagwatism and Shaivism)
D. Hulas/g Gujarat/T 4. Match List-I1 with List-II and select the correct
Codes/&< : answer using the codes given below the lists :
A B CD A B CD Tefi—1 = geii—11 & gafera sifse aar great
(@3 2 1 4 b2 3 4 1 F o e T % @ v s g
€2 4 3 1 @3 2 4 1 List/qeh-1 List/geh-11
—@ : (Mahajanpadas/ (Capitals/ATSTETT)
AT gAfer - TEISUT)
T U TS TR o T/ T & A. Matsya/de&d 1. Mathura/FeQ
sfref - B.  Kuru/3% 2. Potan/9idd
HieT - I T FER C. Sursena/SE&A 3. Virat Nagar
RIESi) - TS fare T
&g - W WY D. Asmak/3799s% 4. Indraprastha/3=3%d

UPPCS (Pre) G.S. 2020 I' Paper 33 YCT



Codes/h< :

A B C D A B C D
@4 2 1 3 )3 4 2 1
3 4 1 2 d2 3 4 1
3T—(¢)

- Te gafer 8-
HESHUS TSt
o= - TR
IE - EEti)
A - g
3799H B |GGl

Tﬁ'd‘ Qﬁ' 'Hﬁ'q\'ﬁﬂ' <hlT (Mauryan and Post-

Maurvan Period)

5. The rulers of which of the following dynasty
have been called as 'Shriparvatiya' in Puranas?

frafafaa & foRE 99T o IITEeRl sl QOO |

 sftodiefter’ et T €7

(a) Vakatakas/aThl<h

(c) Shaks/?Th

IT—(b)
HEAT—38a1g a9 I GEAUs Siiaqa 911 39 997 &
IMEH TR H IAY GROT FA A1 T Q@O H
et T STy F TN 81 T H A
FOT-T= &7 § o1| 3 Fare & 9 4| 3eag wEa
T4 FH AL & WHH H VS Fad I W A B
forerar off f& gear 9w SR g9 & ST AT 9, faheg
ST TRl 7 geba sitg o & wf e

6. The official 'Agronomoi' during Mauryan age
was related with which of the following field?

T e TR S et i

W fore & & wfaa a?

(a) Weight and measurement/HTq R dret

(b) Administrative management/S3MH- N~

(¢) Construction of roads/amt femfoT

(d) Revenue management/ISTEe Ja-¥d

3TT—(c)
- Fa § o @ s smen ar, e
FES 4 THHME el 911 98 TS [0 w8 I
e 1 oft A o1 WY d & S A
diqaTeder qg Tod e % SAEE H guedl el
SIGIR2N

TAehTeT T TWEIET Rl (Gupta Period
and Post Gupta Period)

(b) Tkshvakus/3&arE
(d) Kharvelas/@Rae

| |FT # =t sfiem & etfeidl & w9 A aftfa & &

HAT (A) : g4 = & fawg § 9% gdadt
T i 3TRTT 3 STHFHT 2

Reason (R) : The Chola rulers adopted the
practice of having inscriptions
written on the walls of temples
giving a historical narrative of
their victories.

HIT (R) : a9 IR A iR # A’ W
afiei IOl FA H FeH
T foRer o s fasm &
tftrerfae faewor & s 9

Select the correct answer from the codes given

below

o foar T e | wE I g

Codes/&< :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) R (R) gl
& € 3 (R), (A) I TE =AW BT 2
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)/ (A) R (R) eIl
T § T (R), (A) F1 TE A=A T B &
(c) (A) is true but (R) is false
(A) 98 & e (R) Ted 2
(d) (A) is false but (R) is true
(A) T 8 R (R) W B
3TT—(a)
HATET—dd TS & HEIeh fasrarerd o1 9@rd sfoem
F waifess sl wem sifom &1 g suen W)
TS A, WP, dON, A P AN g 2 TSNS
v | Wafiss fierei & A ¥ Ufeiys Mawdd &

T ETelt | A A e Al % dE | S
Z1 7 FRoT g 6 e w9 sfiere & e Ee g
AR H el & BN Al b IR H 3G gaad
Teel ¥ S S e 81 (A) 3 (R) AT @ §
3R (R), (A)  FE AT LT B

TeehTei= gtaetd (Medieval History)
enfifes Srrter (159 wd 167 wrameh)

(Religious Movement)
8. Consider the following statements and select
the correct answer using the codes given below

Frreferfaa semt ot fermm ity e fi=r e

T %E ¥ W I FHC :

1. The sun temple of Multan is mentioned by
Hiuen Tsang, Abuzaiyid, Al-Masudi and

7. Given below are two statements, one is labelled Alberuni./qedT % ufey & oo
as Assertion (A) and the other as Reason (R) : s
Hor @ o R T F, R T @ we (A) G, SR, FEAG A SFeeeA
AT A T HN (R) el T8 'a;q'%'. '
Assertion (A) : We have much more 2. :sl:)cia?;:lgr“:’]vzi‘tglf St?m S::g:’:;g“r was
information about Cholas than p./HTEYY
their predecessors RIEISES W T gl o
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Codes/h< :

(a) Only 1is correct/Had 1 H&l 21

(b) Only 2 is correct/&ad 2 HEl &1

(c) Both 1 and 2 are correct/1 3R 2 g4 W R
(d) Neither 1 nor 2 is correct/d AT 2 TR
37T—(¢)

SEMET—3T 1 Tecl e § v o (S0 qafed) b
NG A M WM g IS 98 R/ AT g At
# U @ Wkl A% G F UG ggen AfeR o1l
el 3 & 9Na § gF qo B ASEE s gd g &
gl IUCed H I T S 971 Jedd & 93
AT T Ieer@ BT, TSRS, STCHYE qT et o
o 81 o= AR A Aew w g A (o),
sifeenr wd R &1 g Af (Tereem), afadfe
webrdte g it Aeve iR (wwdR) oy ufrg §

9. Which of the following is NOT correctly

11. Which of the following statement/s is/are

correct? . ]

Frfefaa wel § @ wiF-Tr/@ wdt /82

1. AKbar tried to fix the age of marriage for
boys and girls./3TehalX E?:ﬂﬁ 3

weferal o faame =t o1y frerta e
T feRa om

2. Akbar gave freedom to girls to marry at
their own will and not under parental
pressure./3Tcheiy e} E?:ﬁn‘éﬁ E) ST&W
% AT W N W kit gesT W foamg &
Y T & o

Select the correct answer using the codes given
below.

ot fe&r e &1 W S W 3T g

Codes/e< :
(a) Only 1/3aa 1

9
Fresferfer & wi-a wh g T 22 (b) Only 2/ 2 s o at
© ’ Both 1 and 2/1 2 gl
(2) Sheikh Moinuddin Chishti — Ajmer (¢) Both 1 and 2/
g Wﬁq forvd FEa. (d) Neither 1 nor 2/9 a1ad2
(b) Sheikh Burhanuddin Gharib — Daulatabad ST
I A T HTEAT—37A FoIcl o AR, 3TheR HEAFC TR I
(c) Sheikh Mohammad Hussaini — Gulbarga TR e o1, e faer &t ow feiRa s @ s
Terat fepam om| eTFeR o TS o f9a@ A 3 16 a9 TH ASH!
(d) Sheikh Nizamuddin Aulia - Multan F 3W 14 =79 fuiRa fFar a1 39 9 foeE o &
Nict e fere ‘W T e @ fgfe @ o s A
ST—(d) foams - i Eeriftts & WY gedl @
HTET—T gt o gmﬂﬁmwﬁwwﬁmwmﬁﬁﬁa
3 T e - an foare & WA & q@ s 99 W oufoey e o
9 qreada ~ ; FR A 1587 3. H fqean qAfdaw & FEE S9=T o
3 Se ~ : 3 FguCT faame &t we @l oft s e
1@ i _ Fa 12. Match List-I with List-II and select the correct
Eé . answer using the codes given below the lists :
37 T8 8 6 ¥ ST Sifern 6 e qede 4 | geft—1 =t gefi—11 & gafera it aor giet
gt faeeht 4 21 o ot fear T3 Fe | wE ST g
HITA ATETST (Mughal Empire) List/gEA-1 List/F=A-11
10. Who was the ruler of Golkonda when (Officer/ (Assign Duty/farfea
Aurangzeb seized the fort of Golkonda in FHeie)
16877 . A. Diwan-i-Tan 1. Look after the office
1687 ¥ W& 3N 3 MegueT feat W /AT grqfazrﬁﬁw
AfUHR TohaT, 3@ TAHA MAHUST T INEH S
i or? B. Mustarfi/ 2. Maintained a proper
(a) Abul Hasan Qutb shah/31qcT g9 HoRIE list of main events
(b) Sikandar Adil Shah/fg=T eTfee I8 and  firmans/SHQ@
(c) Ali Adil Shah 11/37elt enfeat o8 11 AR d B
(d) Shaista Khan/3Tg& @M TS FH
IT—(a) C. Mushrif/ 3. Look after the Jagir
- a3 1% d salaries/STTIR 9
SMET—CER % FIAAE To9 § A 86 Had I %;q;%mag;
U FYT T 3M3Al U A G 71 FHHN I il Kianvi o the i
1672 T 1687 sc m— e o D. Vakianvis/ 4, Exammpt € income
1 | A . NN I 33 % ?1687 EIIERIGEIE] expenditure of State/
qme FT SIS T - &
W Magrel fhd W AR o a1 e ey
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Codes :

A B C D A B C D
@2 4 1 3 b)y3 4 1 2
(1 3 2 4 d4 1 2 3
3TT—(b)
- Te gafer 8-
arfereRTt fafea swxiea
fAE-T-d9  — SR T dd @ @
AT - TSF % A T F e wE
ToR® - FEfEg ® HeH & fae
afamde - Y@ geAS 9 BHH B gHEs
AT
13.  Which of the following Mughal period canals,
was constructed by restoring the Rajabwah of
Firoz Shah?
Trfefaa § o fore geTeTaRtelt &t @t Tt
TRIST ITE I TSToaTE Shl TSI ohich TehaT
T=T?
(a) Shekhnu-Ni/¥rRag-t
(b) Shahab Nahr/?T&8d T8
(¢) Nahr-i-Bihist/T8t-u-fafged
(d) Nahr-i-Agra/"g3-T-31"{
IT—(b)
TR IeE T & o RS &t
IS8 H TSI e fHar T |
14.  'Who among the following was the author of the
book 'Kitab-i-Nauras'?
frafafea @ 9 *F fRaa-u-9ra’ Amw
J&Aeh S @ o1?
(a) Ibrahim Adil Shah I1/3sfgq afifeereng fadr
(b) Ali Adil Shah/3Telt sTfeeremg
(¢) Quli Qutab Shah/Feft FHIavE
(d) Akbar 11/31&sR fgdia
3T{—(a)
-3 e fEda SemR Heaa & affed
YT A H GedH oA FEA WG & A g e o R
gl & 99 aw 'R [ & o9 Giepfis

C. Mirasi/fqufg 3. Maharashtra
HelIg
Tamil Nadu

aftreTg

>

D. Adade/3Tee 4.

Codes :/h2 :
A B
@1 2
01 4
ST=(b)
- Tel gafer 8-
Telt—1
SSTHTT
I TR
s -
TS

Consider the following text and arrange them
in chronological order :

ot W faem i 3iw 39t
HIAHHTIHT (e ity :
1. Fatawa-i-Jahandari/%dat -E-?lﬁﬁ'l'ﬁ
2. Prithviraj a-Rasof'{%ﬁTI\_rT-Tl'{ﬁ
3. Kitab-ul-Hind/fRamel-31-T6<
4. Tabaqat-i-Nasiri/dsehTd -E—?Iﬁl’&

Select the correct answer from the codes given
below.

e fedr T e | W I g
Codes :/h2 :
(a) 2,3,4,1
(c) 4,3,1,2
ST—(d)
M- T8 HICATH 8-
Ter AGH (ITHH)
fepama-3a-fég FCTEH! (HEHE TTSTel)
eI T weaErE (YA He)
[EEARREIIE e oSt (e a9 eta)
FAa-U-SRE - SEREE a (4 O e,
fRST qTeTh)

eI et (Modern History)
WA AU & fagea g b
AIUTST T URET  (Decline _of Mughal

Empire and beginning of European Trading

A

CD B C D
34 ® 1 3 2 4
2 3 @1 3 4 2

geit—11
I 9

Helg
Eritc)

e

D

16.

15. Match List-I with List-II and select the correct | COmMpany)
answer using the codes given below the lists : 17. With reference to the Treaty of '"Aix-la-
get—1 & F—11 ¥ gafea Sty qer e Chappelle " 1748" wl{n)ich of the following
aﬁrq statements is/are correct?
éa:ﬁéﬁﬁﬁgﬁwﬁw ! " Y- T-ITUeT— 1748 @t Wiy & wWed o
List/ae-1 List/et-11 frferfiam et i R w-wA T 88
A.  Jajmani/SSEET 1o North India 1. First Carnatic War was ended.
AL YOH HATedh g i T
B. Bara Balute/s1 2.  Karnataka 2. The English got back Madras.
Elca T SRt WE O U g3
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Select the correct answer using the codes given
below.

o fed T FE | wl I gt
Codes/&< :
(a) lonly/%ﬁl
(b) 2 only/&aa 2
(¢) Both 1 and 2/1 3R 2 &t
(d) Neither 1 nor 2/F @ 1 T & 2
JT—(¢)
- H UF-a-ome & |9y (1748 ) ¥
g & ITUER 1 I& a1 T, 5o HRov
Fleh H ¥I9 I (1746-48) E. «ff T & Tl 39 WYy
T A3 ST 1 a sRa § et wEiRe @ e
foet U1 39 TE g5 % 999 R F I af TR R
18. 'Who had merged Sikkim in India?
Taferrw @1 wra ® foe foea feran?
(a) Lord Hastings/ae 3feTg
(b) Lord William Bentick/aTe faferm sifes
(c) Lord Dalhousie/dTe Sergrst
(d) Lord Auckland/dTE 3Theive
I—(¢)
ETEAT—-ATE SeRis 1848 §. H T SFRel SHa R
HMET A1 oS Seriel & T § S g W &
TEwEqUl YHAAE 39 THR -
o fXdira sl @ gg a1 d5e & fafewr gmrsy §
faem (1849)
o TERIST g fig &1 dve g & Mt
o N SeRll A Uy W & IS sfRd & Wy
TATER H WY AR I W ARFR H o
(1850 %))
o 3R Ful qom iy i By wEew # faem RS
& THg § & forar T

Who among the following established a modern
armoury in Dindigul Mysore in 1755?

frefafiaa & @ frea 1755 # fEdhmer &m o

Teh 3MMf~eh ITHTTR it Tra= st off?

(a) Natraj/qqs

(b) Haider Ali/2sT 3reft

(¢) Devraj/<adst

(d) Chikka Krishnaraj/f</eeht st

IT—(b)
TREAT—3H el 30T IR TR T % Gead 4
TR el F gua @ g -4 I8 (1767-69) §.
YRE goT S daX Tel i SHifirh Hherr W g2 o

19.

HHTTR, vw, maw;rﬁrr
Teremifer, wetge @, feRa= 3=gieid wa
3T Gﬂv_tﬁ?'l? (Social, Cultural, Mass

Awakening, Lower Caste, Worker's Union,
Farmer's, Movement and other Movement)
20.

Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R) :

Hror S weam foa T3 €, 0 U @ e (A)

3T gEY =T ST (R) ShET T §

Assertion (A) : The British Government
introduced different land
revenue system in different part
of India.

HAT (A) fafesr WHER T 9RA F -

T AN H TS H SAe-
AT LT AT H 4|

Reason (R) : It led to create different classes
in Indian peasantry

HEW (R) : Y O fREE # Ter—aterT
it SR T

Select the correct answer from the codes given

below

o e ™ e ¥ | W s g

Codes/h< :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) R (R) gt
& € 3R (R), (A) # e A Bl 2

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)/ (A) 3R (R) &M
T § T (R), (A) F1 TE A=A T B &

(c) (A) is true but (R) is false
(A) T & g (R) o &

(d) (A) is false but (R) is true
(A) e & foeg (R) T @

3—(a)
Ty TFR 7 9Rd & - 9n 9
o & -3l I @] S oS- sl
Saled, SMd, fRR, IS, T9RE e el WA
3T 1|
ATt aER— 1820 H "SW, TR U I & IO
AR | AN g3 ATl
TETATSt HATEAT— T8 MR, U§e, Wed uid § ar
g3 11 T HROT oA 5 ARA R H A3t A
S T A S W 2 fF Fed ud R0 A wE E
T (R), HI (A) F1 FEI AT HTl 2|

(Major Institutes, Treaty, Commission, Act)

T AT TG gF (1780-1784) €. off TR wd 3 &

! (| 21.  Match List-I with List-II and select the correct
SRS f@ﬂﬁ %\EI ol mﬁ T AT 1755 ﬁ answer using the codes given below the lists :
SR oTell A e #owew § R (o) d Teht—1 =t ef—11 & afera SR qer gieret
Yfieh EMTR T&ifa feha o & o e T T | W s g
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List/A-1 List/S=A-11

A. Indian Arm Act/9dE 1. 1876

e Ay
B. Royal Title Act/3mdt 2. 1878

Te At
C. Indian High Court Act/ 3. 1869

ARA 3= ==

At
D. Indian Divorce Act/ 4. 1861

T foare fomese

At
Codes/&< :

A B C D A B C D
(@2 3 1 4 b 3 1 2 4
)1 2 3 4 d2 1 4 3
ST—(d)

-G gafer &-
Telt—1 Tet—-11
ARA I8 SR - 1878
I ug stferfrem - 1876
I faere e sfafem - 1869
AR I=d <R fefm - 1861
22.  Who among the following leaders did NOT
participate in the Second Round Table
Conference?
frafafaa Faedt & @ wm o Tems
WA o 9T & feram an?

(a) M.K. Gandhi/Td.%. Tieft

(b) Sarojini Naidu/SUfSHT A1

(c) Pt. Madan Mohan Malviya

ufed He Hied weEE

(d) Dr. Rajendra Prasad/sf. Tol= J1E

I—(d)
{3 Mo gies & EeE 7 fde - 1
fedier 1931 # wiad # gam o11 39 e § 9 o &
foe i} St vH.Tw. TSgAE A S 9 12 faaer
Frove T 91 F i F UHAH IAEH 91 55 geed
T g 31 SR 5 am fomn o wEe w6 el
TS N HEe FARH AEg oft suH 9 a3
e T S8 Ot O s 9 qfgenstt o sfaffe
fohaT| wed Aigd Trodi TPArd g & ufafafy & ®9 §
T 9|

List/qeh-1 List/g=i-11
(Book/TETaR) (Writer/cT @)
A. The Storyof My 1.  Surendranath
deportation/ & Banerjee/
wrl it 7
feardem
B. Gita Rahasya/ 2. Maulana Abul
far = Kalam Azad/
A
hed™H
C. A Nation in 3.  Lala Lajpat Rai/
Making/T ¥ AT AT T
T AfHT
D. India Wins 4.  Bal Gangadhar
Freedom/3fUgan Tilak/sTeT TTER
fag wiew [NSED
Codes/h< :
A B C D A B C D
(@3 4 1 2 )4 2 1 3
(¢)2 4 1 3 d4 3 2 1
ST—(a)
ETEET—TE gHfer a-
T Srecy
T W o A9 fewidym - el oAeud 1
T = - 9T TR foereh
T AYH 3 AT - e it
gfrsan fow wsn - YA HeAH
SISIES

24.  Who of the following was sent as representative
of labourers by Indian Government in the

Washington Summit of L.L.O. in year 1919?

Ra HhRT gRT 1919 AE.UA.. &
e e ¥ ASgdl & Wi & w9 §
Frrefafiaa # @ ford 9= o or?

(a) V.P. Wadia/a. 9. arfean

(b) N.M. Joshi/T.TH. it

(c) CF. Adrews/dl. TS, e

(d) Joseph Baptista/SiH® i

IT—(b)
EAT—a9 1919 & ST 99 9 & aIFET THeH
T 9Rd WER Z TATA, SHEl F A§gd o WAy &
®Y T ST =T 97

W <hl ‘H\Tﬁ'ﬁ (Indian Geography)

Hifereh T=ET/UATE o35,/ HAHT T

(Physical Structure / Drainage System /
Human Geography)

T WU e W e
(Freedom Struggle and National Movement)

23.  Match List-I with List-IT and select the correct
answer using the codes given below the lists :

geft—1 =t geft—11 & gafaa sty qen gfet
& o fd T we @ wd W g

25. Which of the following rivers is a Trans-
Himalayan river?

# @ P T e

(Fa-fewrerm) =& €2

(a) Jhelum/3rem (b) Sutlej/Faes
(c) Ganga/TM (d) Ravi/TEt
JT—(b)
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T T— TS ST IR H 584 el Teh MR a1 21
Tq & F 3T fuerd UR (219 o) ¥ AMEe &
fihe TergaTer BT @1 3H e 1450 fdt 21 =g
T qRA § Rue gev ¥ y9w Gt 7| fRHEe wew §
& 59 94 W UGl A0 Sy a9 T e 6y & 9
T e SR & o B T R, S oMifee 9
SIYE % AW U S ST 81 gdos e s #
o 94 9 et S R

26. Which of the following is NOT correctly

matched?

Freforian § & w-A1 T gat T 87

(Tribes) (Location)

(a) Angamis/3TH  —  Nagaland/ArTcivg
(b) Birhors/fSRER —  Jharkhand/3@US

(c) Khas/@q —  Arunachal Pradesh

STEUTEE J<9

(d) Todas/ZT=T —  Tamil Nadu/afyerg
J—(¢)

HEAT—GY SESld & g g swavs, f@aeEd
ey § 21 S SHSfd Armetvs § O St @1 faER
AREUE § Rt S ATl S §, Sk Srgl Sl
g # ey w21 o w9y R f6 fasey (o) 9@
gafer 74 2|

28. Which one of the following is the youngest

mountain range of India?

frafafaa & 4 wE-dt ara st Tedfian uda

groft 2

(a) Himadri Range/%'qﬁpf gt

(b) Aravalli Range/3Rraett groft

(c) Western Ghat/af¥=t =1

(d) Vindhya Range/ﬁ@ﬂa groft

3—(a)
TRt &1 w8 fRaerd & 9m § off S S 2|
g it 2 Ao e we Rae & o= Ryq 21 fava
F F Hated wdq afear g9 ovht # Rem 1 femrer
wdd Sfvrat dimae ada Soft % sfaria o €
29.

Valley of Kashmir is situated between :

Y Tt feora
(a) Kangara and Dhauladhar ranges
FHITeT N HiemgR gaq-aftr & we
(b) Pir-Panjal and Himadri ranges
fR-veer 3 st wda-aford % wer
(c) Mahabharat and Dhauladhar ranges
TR 3R SieeR wda-afort & we
(d) Pir-Panjal and Mahabharat ranges
dR-TSTer 3R WeTIRT Yeq-Afore % 7
3I{—(b)
- FHR 7, 3 ufvem § i oS iR

27. Match List-I with List-IT and select the correct
answer using the codes given below the lists : IR g # g femrer (Al v sfwen § il gg €
geft—1 Y Fefi—11 & Gafer SR o ghet | |78 T 135 B, e 3T 32 fopedt. =rer 21
& e fear ™= we T et 3w gﬁq ; 30. Consider the following tributaries of River
List-I List-IT Yamun:gn(;%rrange them from West :T%E;‘St a:‘
(Lake/3fter) (Location/3tarf¥erfer) Wﬁ B
A. Sala Lake/grer 1.  Arunachal Pradesh 1. Betwa/aqaTt 2. Ken/ahd
el SR 3 3. Sindh/fa=x 4. Chambal/=r&ret
B. Badkhal Lake 2.  Haryana/gRamm Select the correct answer from the codes given
EStcRiI] below :
C. LoktakLake 3. Manipur/Afrg o for w3 e F W 3R gh
Ahesh et Codes/&< :
D. KaliveliLake 4. Tamil Nadu (a) 4,3, 1and 2/4, 3, 1 3 2
Freiae = AfirerTg (b) 1,2,3and 4/1 2 , 3 3 4
Codes : (c) 3,2, 1and4/3, 2, 1 3R 4
A B C D A B CD (d) 2,3, 1and 4/2, 3, 1 3 4
@1 2 3 4 ®2 1 3 4 ITR—(a)
©1 3 2 4 @1 4 2 3 -7 48 TR & e g e ¥
ST—(a) frperdt @ Td yars # T A fre S 1 gEe
STET—TE gAferT 8- e Al & uEn ¥ ud %9 39 TR 31 T=a
et e e — S — F91 9d ¥ o @ werEs A #@
S ~ ST SR %1 8-feed, R, #, e
sEadE - Pl Shewer using the codes given below the ists
e W - AR Teft—1 Y Tefi—11 & Gafea FRAT Tor gremt
Frefad dfd - afrerrg o e fed T3 e ¥ e ST g
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List/Fh-1 List/F=A-11 Select the correct answer from the codes given
(Mountain/geid) (Country/397) below :
A, Atlas/Ta¥ 1. France/Spain e e %< RALERE 2Tl
S/ Codes/e< :
B. Kili ; 2. TFAER (a) Both (A) and (R) are true and (R) is the
%lé{rg;r;g‘ " Eeuador/ correct explanation of (A)/(A) R (R) gl
C.  Chimbrozo 3. Tanzania/dsTT T & S (R), (A) HT T A F7l ¢
(b) Both (A) and (R) are true but (I;%_{is not é};%
D. P 4. ArEE correct explanation of (A)/ (A) (R)
T Moroceo! TE § T (R), (A) F T e T e
Codes/&e : (c) (A)is true but (R) is false
A B COD A B COD (A) & § fHg (R) e &
(@ 4 3 2 1 b)y4 1 2 3 (d) (A) is false but (R) is true
© 2 3 4 1 @1 3 4 2 (A) T B e (R) T @
IT—(a) IT—(d)

AT T8 gafad 8- - 3EHEER g a6 A § [EE % a8 gEd
LCh) E+) T 9T % 2| HEY W WA W 38% HUST 9T 30%
e - Eite=n T IR e S @, @t Fo 119 A &1 g Ao
fpferiomr - SSlce) FE B GIH TS HX e P HRUT HUM F G TR
fadet - TER Fed E| P STEHSER B TG F FAUORL Fad G
EIEICIE | - HE/EA TS T WeNE H 378 Soar] 8 & HRUT a9 A &

32.  Which of the following tribes is NOT the native

to the Andaman and Nicobar islands of India?
frrafafaa Saarfaet & & &E-AT 9T &
A ’R TRER Fi0 et o ger fandt
& 77
(a) Halchu/gTeTg
(c) Onge/aﬁ
37{—(b)
RS- A & 3USHM bR § Sal, 37w, I,
HfeTeis qo grery (Fepledl) seeiferat o STreft €, e
YT S Ametvs O ST @1

i, vifel HETEE Te ST o =R
(Mineral, Power, Resources, Industry and

Trade)

33. Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) :

Hror S weam foa T3 €, AT U @ e (A)

AT TEY T HET (R) el T § -

Assertion (A) : Ahmedabad is the largest centre
of cotton textile industry in
India.

JEHEEE ARG H A FE@ A
F T T F5 2|

Ahmedabad is located in Major
cotton growing region of India,
so it has no problem of raw
materials.

SEUSER IRd & @ HIH
I & f R 8, s8I )
Fed WA N HE GHE T 2

(b) Rengma/ATHr
(d) Shompen/?ﬁta?

HAT (A)

Reason (R) :

ST (R) :

FIEA 2| SEHIER AR % JE HUNE IUEH &
fRod 8 gofee 7ef Fe=3 e B guer A& R
I W B 5 FUT (A) Told 2, el FHOT (R) T 2

34. Which of the following are NOT correctly
matched?
frefafaa & @ SF-ar & gafea T8 2
(Mineral) (Mining City)
(ERCEERIF)
1. Copper - Chitradurga
qtar
2. TIron ore - Ballari
wrg Ten et
3. Manganese - Bhilwara
R pCic Tirerarst
4. Bauxite - Katni
STFATZS et
Select the correct answer from the codes given
below :
o fea T e | T ST g
Codes/h< :

(b) 2 and 3/2 3R 3
(d) 2 and 4/2 3R 4

(a) 1and 2/1 3 2

(¢) 1and3/1 3 3

J—(c)
- F I ToRgH & @ael, I o
W § g 1 AT 1 ST qeT Yeu, WeNy e
sfeen ¥ @@ g1 S gt @ aead (Fe®) §
e 3TF%H H IR qUT Al (W.H) NS, AN
(3NfEem) ¥ sfeqEe & SARd g gl siererer die
g & forg afirg 21
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94 <hl T‘ﬁ'ﬁ (World Geography) SUPED QPﬁ?'f (Economic Geography)
37. In Malaysia, the 'Kinta Valley' is famous for :
ST HUSH (Hydrosphere) T §  fRveT et witeg £
35. Which of the following ocean currents is (2) Rubber Production/TR e & foTw
associated with Indian Ocean? (b) Tea Production/dd 3cqTa * fow
freafafga # ¥ - e awn &= (¢) Tin Production/fe<T 3 & forw
TETETR & qefed §7? (d) Coffee Production/F&aT Iw1ad & forw
(a) Florida current/FaiifieT &R ST=(©) S -
b) C /AT T A TR HeTE | R R I
) e ST U R S 3 forw fed WG 21 7 e A
(c) Agulhas current/3TcTR™ 25% foa &1 3cureq gar g1 S o &1 3eured
(d) Kurile current/a%[ﬂ'gﬂ I fSpUeT w19 H TUIT SR arefiT & & g 2l
3T—(0) 38. Which one of the following is NOT correctly
STE—FEEIT 9RE FeERl § T & qHE matched ? .
- ?
36 §1 T Pfea R § wm o g T weE - T gAfer e
> . = e % (Country) (Iron-Ore Producing
S 6 TS e LI - ! Area)/(Fg-@f=t
R TH T OO @ S e merr § de 8 JeaTa 8
S FHd ?*JI'IT[ T FAINET 8 Sfeelicd HerdrR qer (a) Kazakhstan/&sTRa&M- Karaganda/HRITUST
TS R T HEEIR & G Gl (b) Ukrain/?{av':f — Krivoy Rog/faig T
T qUES (c) Germany/STHt — Normandy/=IHUE!
> (Atmosphere) (d) France/%id — Pyrenees/ATgHIST
36. Match List-I with List-II and select the correct IT—(c)
answer using the codes given below the lists : —— r——
Teft—I &t Fei—11 § gafaa swirse aar gredt éi? ¢ e @ o
& e fer T g Wl IOy TG RS
List/g=it-1 List/g=i-11 Th forare T
(Tropical cyclones/ (Country/a9T) Bace) RG]
<TehalTel) 3 wF 2 o AU wiE #1 &9 8 1 f6 s @ e
A. Baguios/ST3 1.  Australia/3Teferan T 7 8
. . 39. In which of the following regions of the world,
B. Hﬁurrg reanes 2. China/T the production of citrus fruits is well
developed?
C. Typhoons 3. Philippines forva & frrafafaa oot & @ fead @3 wie
TR TReAl ShT SeaTe SgA ferehterd &2
D. Willy-Willies/ 4. United states of (2) Monsoon regions/ATTgHT FwT
[ERIRERIS America/Fgh TG (b) Tropical high lands regions
SRS IUTHCTHT I=aqH FTT
Codes/5 - (¢) Mediterranean regions/THETENRT J&¥T
odesire: (d) Equatorial regions/ AR F391
A B C D A B C D IT—(c)
(@3 4 1 2 b3 4 2 1
© 2 3 4 1 @2 1 3 4 AT — AT A AR % - fo
SR—(b) ERERE I 1 M B | A A C AR Crird
TR X1 % Al SR T 30° § 45° S 6 HEA
- Te gafer 8- Hﬁf@ﬂﬂ‘ra\n oferdt 9N W 9T S g
s e ERCE:| ﬁ;ﬂﬁ@ﬁgiéwm%maﬁﬁlm
e - g s T f?fnz feea afirg
? = g1 THF il Hav, 3411{ ﬁ?ﬁ ey
SR - @maﬁmﬁw%w &7 i fowa & s
el - e & afy & A Y AT S B
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40. Postmasburg and its adjacent area of South |43. Which one of the following is NOT correctly
Africa is major producer of which of the matched? ]
following minerals? frefafaa & @ SF-91 tw 9 gafea T&8 82
fauft  sthteRr  wAT AR SHem (Country) (Capital)
wuadt & frafafae § ¥ feg @ @ (@) (rsTeni)

TG IATE §7 (a) Morocco/AIRaH! — Rabat/W@md
(a) Uranium/?{}ﬁm-'l (b) Bauxite/dTeRTsd (b) Tunisia/EﬁﬁWT — Tunis/Zgfa
(¢) Manganese/HTHIST () Mica/319% (c) Algeria/3HeSI — Algiers/3TeSITIE
IT—(c) (d) Cape Verde/&d € — Bamako/aTHTeh!
TEAT—fR0T STHIHT BT UEHRS SR ITH Hgadf F() 3
& HTIST o I & oI ST ST 21 STl AT -
: EE TrerTt

RIGCR UGG R I ELC Gl G - I

(Human Geography and Mapping) g - CCIEN

41. Darling range is situated along which of the eI - SRkl
following coasts of Australia? o H7 T2 - 1D}

TIfAT et eferan & frfalaa @ef & ¥ | [om: @y 2 % &y a8 & qour 93 2 Sefh s,
fora W srafeem §7 Tl AT F T 2

(a) North-Eastern Coast/?‘i*l?—tfﬁt <

(b) Southern Coast/3fR0 T2

(c) Eastern Coast/Jdif T

(d) South-Western Coast/aferofi-uf¥=ft qe

IT—(d)
TE—-ALR tHAF TE wedig 2, s gl aw
gl Mo # Red g1 W W@ enefen wedlY &
wel A O 21 39 WY % [ e W I
fearefEm I ame gdd R 21 e 3@ weEW F

44.

The equator does NOT pass through which of
the following Countries?

Frfefaa ¥ ¥ forT o ¥ gt gEed
T et 87

1. Gabon/i&=

2. Somalia/drHT{TIT

3. Equatorial Guinea/sJHea Y& Tt

4. Rawanda/AATUST

Select the correct answer using the codes given
below :

aRT-ufte de W el e st 8 o fodr T T ¥ T 3w ghm
42. Match List-I with List-IT and select the correct Codes/ehe :
answer using the codes given below the lists : ) (a) 1 and 4/1 3R 4 (b) 2 and 4/2 3R 4
gefi—1 = gefi—11 & gafea s aer giest (c) 2 and 3/2 3 3 (d) 3 and 4/3 3R 4
& e fed T Fe e ST g IT—(d)
List/g=it-1 List/g=it-11 - W@ gl & a de g T T
(Ethnic Group/ (Country/é‘ST)
|R)
A. Jews/?i@ﬁ 1.  Egypt/fire
B. Teda/2sl 2. TIran/30F
C. Beja/aT 3. Libya/cfiferr
D. Lur/eX 4. Isracl/gSIIEA
Codes/h< :
A B C D A B C D (Population and Urbanisation)
(@1 2 3 4 (b) 4 12 3 45.  What should be Total Fertility Rate (TFR) of a
()4 1 3 2 (@4 3 1 2 population in order to reach at the replacement
ST—(d) level of fertility? .
- gt & W%uﬁwmqwmu@ﬁ%m
TAEE & FA oA & (SLTE.AR)
= - T Frft wrfen?
3 - SIER
(a) 1.0 (b) 1.6
EE I forer (©) 2.1 d) 2.3
T - S IT—(¢)
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TEAT—T5HA & JfeIT & T Uge o [T SHae
F A T K 2.1 B AU FGHA H ARG A FA
Yol 2.3 71

46.

Kanpur and Lucknow cities of U.P. become
million cities as per the census of India in the
year :

ST YW & &AW IR wEEs TN fRE
TR FTT0ET 96 § AT TR a7
(a) 1951 and 1961 respectively
AT 1951 3R 1961 H
(b) 1961 and 1971 respectively
A 1961 3R 1971 #
(c) 1971 and 1981 respectively
A 1971 3R 1981 H
(d) 1981 and 1991 respectively
A 1981 3R 1991 #
J—(c)

49. Which one of the following pairs is NOT
correctly matched?
F A - T ad gifr T 82
(a) Interstate Council — Article 263
' 3T 263
(b) Finance Commission — Article 280
aﬂzéa 280

(c) Administrative Tribunal— Article 323A
TS R SR 323%

(d) Union Public Service — Article 315
Commission

T &b HaT ST 3T 315
ST—(d)
HTEAT— 3T URoe H1 auid 3Tw8e-263 | foar mar
1 fo TR ST=R-280 H @ aYT yemHS =T
FIEDT 323-F & HAG &, @fh o 315 H w9 wd
TS s Yel AT B quid B e @ A % et g9
ek JT AT 7 i |

HAET— IR 9 F & TR 3R o@ s TR 9rar| |30 Which one of the following is NOT correctly
4 matched?
o . (a) Fundamental Duties — PartIVA
TRATT WU T STl et T qT IV A
(Indian Constitution and Governance) (b) The States - Part VI
T 9T VI
ORT T -{;iﬁ-a-rﬁl—cﬁ e (c) Attorney General of India —  Part XIII
. or e AN T =TS T X111
(Indian Constitutional Development) (d) Services under the union —  Part XIV
47. Which Part of the Constitution has the and states
provisions for Panchayat‘i Raj System? Y a9 TAt & o7l gard T X1V
Higa & f&a 9mT § o U9 e IT—(c)
wrareft yrere for T €7 TET—TE gAferT 8-
(a) IX (b) VI T FHaeA - 9-IV&H
(c) I (d) IVA T _qmevi
ST=(a) AR F T &7 % few —  9W-XII
AT T gafer - SR, aTsT 3 garm
I-IX - veEEd 9 3R T & ol A - 9E-XIV
W-IX-H - RO o wE B % famen (o) w8 gafaa 78 @) WA &
TVl — T TEIIEATd 1 A S % o, 76 H e T @ S
e - : STT_SE' blaTm%lt tatements, one is labelled
. iven below are two statements, one is labelle
-V - kS as Assertion (A) and the: other as Reason (R) :
48. When was the third tier added to Indian Fror S wem for ™ §, AW 9 U @ wed
Federal System? ) (A) YT THY T HIUT (R) HET AT
AR HoTeres saeet § ot qer e gl Assertion (A) : The nature of Indian Political
=T System embodies the elements
f continuity and change.
1990 b) 1991 o J g
(@) () FHUT (A) : ARA TSI SHewer &t Hepfd
(c) 1992 (d) 1993 e . ,
() g foRa wd gRads % 7 g
e — . . &9 § g 9 £
W‘ X {W'f""q’ oqq.{%u EIREIRER ] 7-|T|'{ ATe Reason (R) : The Indian Political System
& 734 T 749 Gfaue e g 1992 H Trﬁ’s—!T mar contains the elements of the
911 1992 H T TH FIEA B CAain AT ggﬂogligg ﬂ?gglecril sysf;?gl S‘i;‘;
; qs qd & T ¥ T fepa traditional style and saint, style.
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R (R) : AT Toifas =aer § =
Teiifersh shrviferat si- 3myfas
IIeAl, TR Vet q9T S Sl
% T TAIfed £

Select the correct answer from the codes given

below

e fea T e | vl s g

Codes/&< :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) R (R) gl
e & 3R (R), (A) B HEI AT LT B
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)/ (A) 3R (R) &
T € T (R), (A) FT T ARAT e Bl 2
(c) (A) is true but (R) is false
(A) & & B5g (R) TTed 21
(d) (A) is false but (R) is true
(A) e & fBg (R) W& 21
3T{—(a)
AT IR Tifash awl &t JHfd § F=mar &
T g &9 ¥ U I § | IRAT Torfifas sxaeen § fae
TeHifas  wEvfeE 99 Steft, §a de e
TWRA It % dc TAfRd & | aRdd # qRedid Torifaeh
AR 9gd W 81 - aemelt fava # ggar T
21 37 U 8 & A 791 R EH1 ®El € a9 HROT (R) FAT
(A) F SRS HTAT 2|
52.

Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R) :
Fiaor @ wem fo@ ™ €, fAd | e W@ wew

(A) TYT TER T THIUT (R) HET TAT E
Assertion (A) : Indian federalism is called
'Quasi-federal'.

HAT (A) : IR GOTcHsh HaedT i ‘37e-
HeTws T Sl 2|

Reason (R) : India has an independent
judiciary with power of judicial
review

W (R) : g TS @dd At @
gcﬂi A TR0 & (BN

|

Select the correct answer from the codes given

below

e fedr T e ¥ v ST g

Codes/h< :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) R (R) gt
T & S (R), (A) FT & AT Ll 2

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)/ (A) R (R) el
T § T (R), (A) F1 TE A=A T L 2

(c) (A) is true but (R) is false
(A) T8 & e (R) el 21

(d) (A) is false but (R) is true
(A) e 2 5 (R) W 2

ST—=(b)

SEAT—IRAE el ST i 3TH-HeeHs gl Sl
21 9 T e 3R, faesieve 3R i &
TE T YN §E g § e dfawe @ o sad
THHS A1 -G 9w €1 S H 6 o § vl
F FIeH 81 gHfe wH. FRR T aRdE dfeue @
aef-wefe T @1 NG § T =i @ 9 =t
QeI S ARIBR 21 31 WY 2 6 Ho ud HRoT &
T &, T BROT (R) 97 (A) H 9 = T8 R 2

53. On which of the following dates, Constituent
Assembly of India adopted the National Flag?

ORA @t Gfeer gar 3 frafafaa § 9 e

fafer s Tt et 3rueTET?

(a) 22 January, 1950/22 SHad, 1950

(b) 24 January, 1950/24 SHa{, 1950

(c) 22 July, 1947/22 T8, 1947

(d) 22 July, 1948/22 S[TE, 1948

3T—(¢)
HET-22 IR, 1947 H Tfge= 991 & g1 TEA
SaST I YT TAT AT 3H ST F A 15 A 1947
H Tg IRT BT TP & T |

dcd  (Preamble, Union State domain,

Citizenship, Fundamental Right, Fundamental
Duties, DPSP)
54. Which of the following is NOT possible by a

law of parliament under Article 3 of the
Constitution?

frafafaa § & SF-w1 Giaa= & ogwee 3
& Ted GHE % Ueh S gNT G9el &l §7
(a) Formation of new states/Td AT &1 TS
(b) Alteration of areas of states
Tl & &l § gRadd
(c) Alteration of boundaries of states
Tl # dired § uRadd
(d) Admission of new states/T Tl &1 JA9
IT—(d)
ETEET— A Hfo8M & T8 3 & U, §6g fafy
g foFelt U7 § | TR TS & YA Fh AT A A
aiferes Tl B A TS F AT w1 fremeRt stear fepedt
T & i hlt TF & 9T % g faere qU ST @
fomfor & w1 a7 Rt Tow a1 & agr weR A feReht
TS &1 & T Tt a1 e T A et # aRadq
FX GRT a1 Rt Tow & AW # ufRada S g S
SIe% 2 | U TAT B YA AT T B A 2
5S.

Which Articles of Indian Constitution are
related to citizenship?

TR W &% RA-8 TR AT ¥
weifera &7
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(a) Article 3 to 10/37=3% 3 ¥ 10

(b) Article 4 to 11/37]=8% 4 ¥ 11

(c) Article 5to 11/3T%8% 5 ¥ 11

(d) Article 6 to 11/37=3% 6 ¥ 11

3TT—(c)
HET-Tfa= & -1 | 59 11 a6 |
IeRar & SR H = S T B 3W Gy H gEH e
AR forega swey 7 21 g fah 37 @nil S gEe
2 St g o] 89 % gua (26 SHed, 1950) 9RA
TR a1 ARG AR, 1955 F wiRa e @ an
56.

Which one of the following is Not Correctly
matched?

frrefafaa 9 9 Si9-91 T @ gafed T8 82
(a) Article 39A Equal Justice and free legal

aid
HT®T 39A  HUW =F TE e fafue
BRI
(b) Article40 — Organisation of Village
Panchayats
HT=T 40 A Y=l T ETeA
(c) Article44 —  Uniform Civil code
HIBT 44 T ARe e
(d) Article48 —  Separation of Judiciary
from Executive
=T 48 e F TR 9
PREEZU
ST—(d)
- Ge gaferm 8-
TR 39A —  HAA = TE Fyes s
HRIA
R 40 — T daEEl H G
BT 44 -  HEH RS Hfed
FTDT 48— P I TYUTCH B TS
FIBT 50 - HEAUINCTR § =GR
PREEZU

WY UE TSI hi  IHUTICTeRT,  3TUTd
SUd=I  (Union &  State

Emergency Provision)
57.

Executive

In the removal of which of the following
officials does the Parliament NOT play any
role?

T ® § &A-9 UEIeRal &l ge ¥ 66g
aﬁm?ﬁ@?ﬁ%7

Judges of the High Court

T TS oh AT

2. Judges of the Supreme Court
SoeAH AT o ~ATaTeiT

3. Chairman of the U’nion Public Service
Commission/37€I&T, 9

4. Comptroller and Auditor General of India/
ORa o e i &Teh

Choose the correct answer from the codes
given below :

o fed T w5 | W s gt

Codes/h< :

(a) 1and 2 only/&aeT | @2 2

(b) 3 and 4 only/&ad 3 qUT 4

(c) 1,2 and 3 only/ad 1, 2 3R 3

(d) 3 only/&ad 3

I—(d)
TG —3wadH AT & A g2 & qichar
P Ioo@ GEMH & ISR 124(4) § ¢ wElh 3w
AT & AEHER #@ geH & fau e 217(1) §
T 81 IeacH A1 I=d FET h hd e ®
T & AHAT & F 6 (AT T A FAT 6 HH G
FT 100 FIE A1 TT 99 F 50 T g a9 fhar
ST 21 Rt =ty S a9 q AL gern ST 5 a9
TS FIER A1 Emdar & SR W 3T LW W &
f d9e & TOF e 5N T Fo WS W %
agﬂﬁm of 3uRed 3R A I At Tew &k HA
BT ﬁ'a’l's“ g wAfa gueed, Uyl % gEe
s W W™ aﬁmr@qﬁﬁmqﬁréﬁmélw
% s it Heromr ules &1 g i ufhar ware
W%W&Taﬁﬂzﬁﬁm%wélm
[T AN o HERT Dl G i HHAT B ool DR
317 § fobam AT 21 THH SFIER GH Wi HaT AN &
e A1 ol TE=T o ool HEER & AU TV Ieudq
e 1 R W qgu § ey ¥ g S g1 1

58.  Which is the largest Committee of the Indian
Parliament?

TR THE o Gord ot |l -t 872

(a) Public Account Committee/ceh oim Gfif

(b) Estimates Committee/STahar GfAfd

(c) Committee on Public Undertakings

e U T

(d) Committee on Petitions/aTfee G

IT—(b)
HE-TF6ed Gffd & Ted 9 " §fEfd @
famfer | 1950 # g3 o1 o W 25 e 9
AT 1956 H 39 Tl & H& T 30 F A TR
@ Toft 30 GaF ARAW ¥ e ¢ I 9 e
o2 1 ged ot ofufy 31 oy F gee v 9 |
T F e@ & F ¥ 97 9 2
59.

Consider the following statements in the
context of Attorney General of India :

ORG W HEEaEt o wed ¥ fAfefad

HAA W ferem Hif

1. The president shall appoint a person who is
qualified as to be appointed a judge of
Supreme Court. /Tl'g"Tigl fertlt Ta =t &t
fgfes ®om W Scuaw e &
=renefier & wu § e @ few o g
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2. The Attorney General shall receive such
remuneration as the Parliament may

determine. TAAT  UTRSHS
T RO ST HHE FTRA

Select the correct answer using the codes given
below.

e fedr T e | W I gt

Codes/h< :

(a) Only 1is correct/®ad 1 eI 2

(b) Only 2 is correct/3ad 2 H&l &

(c) Both 1 and 2 are correct/1 3R 2 I T §

(d) Neither 1 nor 2 is correct/T @1 1 7 & 2 W& @

3T—(a)
HTEAT— 9 & HEAFaE qRd §hR Hl &4 S
TARHR T ITaqH =T § THR H @ Fdhra el
R1 NG % WA 1 avi e & e 76 §
fepam e 21 TEe fEfe Upfy g A SR @1 el
Ieaad e F Ay 89 % arg Rl =fe @
TRT F FEEAE T BT &1 HErEard IgfT %
TR TdN U8 9RUT T § R Upefd g fAeiRa
TR T B 2

60. Joint sitting of Lok Sabha and Rajya Sabha
can take place to resolve deadlock over

frfafaas & @ fee W i @ & 7Q

TIeh 3T T TAT Y HITh ook & Tehell &7

(a) Ordinary Legislation/SmH IEERED

(b) Money Bill/s7 fq&as

(c) Constitutional Amendment Bill

Taunfe gened fadasw

(d) Appropriation Bill/fafamT faers

3T{—(a)
-T2 H G4 AT A H Fau= dfa=H
% 382 108 § 21 39 UM & ded @ik 9 § wiRka
forelt T e o Tw @ # Al A fe # Rafy
¥ T S5 & RT3 uRA FRU S 1 Y@M 2
T S I STEIAT BT AT HLl 2 |

61. Match List-I1 with List-II and select the correct
answer using the codes given below the lists :

get—1 & gh—11 ¥ gafea Sty qer e

C. Article 94 3. Removal of Vice-
I 94 President/39gafd
H g
D. Article 90 4. Removal of
=32 90 Speaker
offet F g
Codes :
A B C D A B C D
(@2 4 3 1 b3 2 4 1
(¢) 2 3 4 1 4 1 3 2
3T—(¢)
-G gafer §-
AT PlcBie)
3. 61 - Tgafy T TR
3. 679 - YU g
37, 94 - TRt &I g
3. 90 - TS 997 o IYGHA(A P g

faam wuee : wimiug

(Legislature : Council of Ministers)
62.

What can be the minimum strength of Council
of Ministers including Chief Minister in the

states?

Tt § gt wfea w@hmftvg & A6t o
RIATH T AT & Fehell &7

(a) 10 (b) 12

(c) 13 (d) 14

ST—(b)

- qeE . 6 @ sifyea S
foemeT & o 9e= §@n & 15 vavd § s A8
gnft1 fepeg Tt § A T w5RE S =g gE 12
¥ w4 A AW T WEyH & 91d Hwm Henes
foe® 2003 FW SIEr T A1 3 dfagE w@eed &
Ted F5 HRuRee & 9wl @ $a 9, A% 99
F He & 15 wfawa FeiRa forar @ an

Y-S oy, WomEd, S0 hyHi
T, TEiser vd weTerEt wdiareh

F o R T e ¥ wd I ghm (Union-State  Relation, _Administration,
List/gefi-1 List/gef-IT g ;lmn\l):]lhalllld faslllmirf Stlzllte,ICdAG) .
. Eﬂﬁa ision/STErIT . ic rticle of the Indian Constitution
(Article/ ) (Provision describe the Central Vigilance Commission?
A. Article 61 1. Removal of = HfaemT & T a;ﬁ:[_-{;n- 3]3@?{ ar_S\ﬁ-q-
=T 61 Deputy Chairman ; N %7
of Rajya sabha/ :
T g9 ¥ 3I9- (a) Article 268/3TT%8% 268
I sl g (b) Article 280/@ 280
B. Article 67(b) 2. Impeachment of (c) Article 276/@ 276
IR 67() President/Tgaft (d) None of the above/3udw H g HE T
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HTEAT—H5T Gahdl AT Hsd TR & 3did a9t
Tefeha TiafefRE & IR AT @1 Sdehdl AT SR
SR 1964 H . TUMH H TeIIl arell YER UYS
gfafd & feRy W w=ftd & T 91 99 31
AR Ha gaehar @M SffEE, 2003 g 39
gifafees <ot Se= fhar 71 o1 T- AT YRR & S
FH H ule WAl 81 39 auid §fgue & fedr o
s # T 2 280 # for 2w, TSR 268
# g9 g fog EIg] T g A #R
fafreifom fofT S aret Yo @1 avia @1 S SR
276 ® gferi, =MgRi, sTeifast S Sl W B
Ercateid

64.

Which region of the country conferred special
status under Article 371-J of the constitution of
India?
TR WIGem= & Tg=se 371-F & 3iavia 91
o form gt ot fagrw feafe wem =t 18 €2
(a) Nagaland/F SLE

(b) Hyderabad and Karnataka/g8&{dIg 3R FAleH

(c) Maharashtra and Gujarat/HaRTg 3R TSI

(d) Ladakh/aera

S7l—(b)
M- & 9 XXI ¥ e HhAuiehei 37
foreTy Iuay ATl ST=sR 370 (31 ) & ofaman, o
371-A (ATMATE), 371-B (WRE R ToRm), 371-C
(ART), 371-D (Y R qATE), 371-F
(Faferm), 371-G (fasim), 371-H (30T=aT 5_¥T), 371-J
(3STETE 3 FHeAleah) i e HTl 21

T ST (s T )
[Judicial System (Center and State)]
65. The Supreme Court of India enunciated the

doctrine of '"Basic Structure of the
Constitution" in :

ORd o Wared e 3 CHigEE &
MUY 2fa’’ & fagia = we feRar—
(a) The Golaknath Case in 1967
TS a1 1967 #
(b) The Keshavanand Bharti Case in 1973
R A 1973 |
(c) The Shankari Prasad Case in 1951
Tiwd FEE 9= 1951 |
(d) The Sajjan Singh Case in 1965
gso g ame 1965 #
3T—(b)

Tt Uoedaen 9 wigend w@ynes
317[{1?& (Panchayati Raj and Constitutional

Amendment, Schedule)
66.

The superintendence, direction and control of
all elections to the Panchayats are vested in :

Tt o fT a9 arer gt fates &
Horer T srefterur, freem ei faemor fafea
BT §—
(a) The Governor/TsadTa |
(b) The Election Commission of India
IRA o fates s §
(c) The District Panchayat Raj Officer
e d=ma a9 A #
(d) The state Election Commission
sy fatem s §
I—(d)
ET—739 Td 749 dfoum dwnes sfufem, 1992 %
31T o Tod H dEmEd U9 geensti e ved et &
TAE fom 3 99 W HEH 3G A § TS fAated
A g H T Z TF F qAEGl F GHE
fratemi wd TRuferest & gne frataat & steffemr,
frder 29 Toa fafem e 1 sEEE 21

aTefeTawen (Economy)
Tt Ua ferenfad sreeeran

(Developing and Developed Economy)
67.  Which of the following indicators is NOT used

to calculate Human Development Index (HDI)?

Telehieht O @ ShI-|T O faehra

gorehich (TSLEL.3TME.) st U ¥ witnfera &t

ferarm e &2

(a) Life expectancy/Siiad Jearem

(b) Education/fref

(¢) Per Capita Income/dfc =afth 37

(d) Social Inequality/HMISTH STHATAT

I—(d)
HEAT—Aa [hE gadhis 9% Y fae s
(FuAS) s I g et afis fad g, St sfem
yerem, forn SR AR o F WEwl F SMER W
TR 1 S T 1 FEAFOw 1990 ¥ A fow g
o sl T8 ft1 3w Yo § mIiSeS STEHE H
ynftret & fepem s 81

HEET—HAGH &l SERT S H acad daee J .

fafed S wEeE @ 2, S gfeum o wrdig sHifaes st Te SHisr

T TAHAIID T B T e g1 g7 wawEt @1 | (Poverty and Unemployment)

fewr HeNed % §W ft 7 EeEn 9 WA 81 FAW| (68, Which of the following methods has/have been
Hfaee # STYRYE e aEe &9 ¥ Sfeafed T @ used to estimate poverty in India? )
fohrq =maTera & fafvs i & faofel & mem 9@ oE@ A H TS o IgEe ¥ fefeted W |
TET: A ST GHAT &1 URG ¥ Wiwe @ SmeRed -t fafrt st g fwar < @ 282
T #1 fAgd HyEaH< 9Rd g 1973 g WY R 1. Head Count Ratio/fa¥ Iurr farfer

AT A 2. Calorie intake/heTi{l TEUT
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3. Household Consumption Expenditure

TIRETRes STHT =5
4. Per Capita Income/Ufd saieh 3T

Select the correct answer from the codes given
below

e fear T e | W I g

Codes/h< :

(a) 2 and 3/2 3 3

(b) 1,2 and 3/1, 2 3 3

(¢) 3 only/daa 3

(d) 1,2,3and 4/1, 2, 3 3 4

I¥—(b)
AT | Tl & 3T 8q R o fafy, Serd
TR0 R WRaTies 3NN =g fafei s & R S @

S cAGRIEGRC R RV S CY

(Economic Planning and National Income/

Budget)

71. India aims to achieve the 5 trillion dollor
economy by :
aRd 3 5 fefeaom ster srefeuaven =t wed el
TR YT T oI T T@T &7
(a) 2022 (b) 2024
(c) 2026 (d) 2030
ST—(b)

ETEAT— A s7eferawen & 5 fefees Sfer & wgam
P A 2024 Th T T B |
72.

Limit of investment for outstanding corporate
bond for Foreign Portfolio Investment in Union
Budget 2020-21 has been extended upto :

HET TWE 2020-21 % TN SHE HURE A T
faesft méwmiferan frrar = Hiar ser < w=ft g—

(a) 9% (b) 10%
(c) 12% (d) 15%
IW—(d)

21w § e % eEe sgemE Tl gl %

YR W IR 6 S &1 wre & e & S7hg NSSO

3 Gepfera 9 oI fpT o &

69. Which of the following Committees
recommended a poverty line based on
nutritional requirements exclusively?
Frafafaa afufast o @ feraa A=t draes-del

W IMAYTRAT & MUR W et I@T T

Trrertvor femarm &2

(a) Alagh Committee/37eTs HfAfd

(b) Lakdawala Committee/cIshgare HiHfd

(c) Tendulkar Committee/ﬁ%?ﬁh'{ gffa

(d) Rangarajan Committee/TRISIH GfHfd

3T{—(a)
EAEAT—T. . 3T i ST § A1 ST T 1979
¥ zq afufy & 8T fFan 3@ oy 9 ueel s vl
3R Arfor gt & fAT FAd i srem-stam amn Fifa
F, ST HE: 2100 HAK X 2400 FAK i1 7 W
2 7 37w gfufy 3 v qet Y STEavashdr F SMER W
st @ S fAefer o o
70.

The idea of 'Cultural Poverty' was given by :
‘el it WEhta | T ey feRar TET—
(a) Oscar Lewis/3TT&RT ﬁéﬂ ERY

(b) Gunnar Myrdal/TaX fda g

(c) Aashish Bose/3M3l% a9 g1

(d) Amartya Sen/3M U9 g

3I7{—(a)

- & WG H AR R g9 A T
o 911 T84 AfFTl & eI & EN W ey fe
fop fefar & Gpfa § =it Faat adaq & ar § Frear
2 SN 98 9qrEeard & S 21 SEH AT # qre et
I S @ A9 st @ o 5 awnsdl § W 0 wiveqer
fem ST @ 81 ST e STaRe % AHeTE 41 3
TR 1951 H ST R ufvent IR 2w F AT THIW B
Feg fohar o qfor wEdYiET S SEEmOT & o
foapfaa fopam em

REAT—F51T a9 2020-21 F N 3cHY HURS afg §
sl adwiferar fasr & €\ 9% T 15% a% w@r &
T 21

73.

The development monitoring and E-valuation
office, which monitors the progress of long
term policies in an attached office under :
faem, srgdteror iR geaie @i W
defwef Afife @ ergdtewr wRar €,
frafafaa & @ fhw waiea & stara
T 87

(a) Prime Minister office/T8=HAT Fratea

(b) Ministry of Home Affairs/7g Haleid

(c) Cabinet Secretariat/HfHved qfaraa

(d) NITI Aayog/=ife SframT

I—(d)

- AT F A AT FET F WH W
SHadl, 2015 @ fEar mm oani e, ST SR
oA At Sl Asebiierh Aifd 1 SR Hee 2,
T8 Hfe sy FEted & sidra sy 2

74.  Which of the following statement is NOT
correct for National Pension Scheme for Retail

Traders/Shopkeepers and Self-employed
persons?

frafafaa & § SE-91 ®g9 Geu Smiat/

THMSN 3R WA a1 Afwal & fag

Tt For deT % A W wd e 87

(a) Those who are in age groups of 18 to 40 years
are cligible/18 T 40 % 3F F &M 395 A &

(b) Their annual turnover should not exceed 1.5

crore rupees/STHT A% -7 (IHSEN)
T 1.5 HUS T s 7 8
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